
�

�

����������	��
����	���	�
������	��		

�����
	���	�����������	�	���	������	

���	
��������	��	�����
	���������	
�

�

����������	��
��������
����
�����������������

�	�����
	��������
�������

�

�������	
����

�


������	
����

�
�

� �



�

�

�	�������	���	
�����������������
�

����������������
�����

�

����������	
����
�
�
���
	�
��
���	�����


�����	�������

�

���������
	����

 �!��"#�"$��	�
�$�

%	�	����	�&� �'�(���)�*�*�  �

+�,�&� �'�(���)�*�*---�

���.���.���



��

�
������������	�


/	�����
����	��������	�	�����������	���������������0���	����0	�	��	1������0����$�

�	�	�����������	
���	���	,�	��	��	����
��	���	���2	�.�3������������1�����������

����	�����$�
	���	�	��������.�

�

%�������0	�	��	�����
�������2	��		���������	�����������	�0������������������0�

��	���������4�

5���	�#��	������	67	�	����0���#	2	���$	���8���	������1�9	����$��

5���	�����������0�+��	����"00����1���	�:	��	����
��

5� ��	�����������������0�+��	����"00����1�:�������

5� ��	�;��#	����$	���0���3��	����������#	2	���$	���'#+3#(�

�

<�����1��	�����
����	������������	����0	�	��	��
$����������1�=������
����$1�0���

�	�����	�	���	00����������������	��������������0��$������2	����	�����
���
�	����	�

�	��	�	��	�������	
���
�0	
.�

�

�

�

+���>�/������
��������		��������
�����

8��0	�	��	�8���
��������

�



���



����

���
�	���
�������


�

%�������0	�	��	���$	
���������������������	��	�
	�������������
���
	�����
�����

���	�����	�������������	��	00��������0�����
��	�
	��	?������1��00	��������

������������0����	0�	���������������	�
	�������������������	2	
���
������	���

������	����0�����
.�3������$���2��	
������������������������	�����������	$������

�������
��	�
	�������	
�	����
	2	���$	����	��������������	�	���������2��	�	�


�
�������	�������$�
	�����
��0�	����	�	��������	
�	�������	���0������������	�

��?���	
1��������������������	2	
���	�	,�	��	
��	����������	�$���0������	�����

�	�
	���	�������.�%�����	����������������0������	$	��������	$	��	
���
��	�	�

	�������	
������	������	��0���	����0	�	��	.��

�

+����1������@�	�
	�A�$	���������	��$	�����	��	
��	����	����������	����$	���

�����	��������	�������	���	
������0��	��	�������.�8���	�����2	����	�$	������

�0��	�
	���	�$����������	�	2�
	�������������	�������	����������	��		��@�	�
	�A�

��
�����0	$�����������1����������������	
���	��	�$���������0��	�
	������	�

������$	�����>	
���
�	$���	
��0�����������������0��$�������$����������.�%�	�	�

��	�$�������	��������������$�����4������0	$�����������	
�	������������	��0�

��B	���2������
���	�	0��	����	����$��	���
�@�	�
	�A������	
�	�����	��	��	��	���00�

����������C��������	��	�$���������0��	�
	����������������	������$	��������	�C�

�������������
��	��	B	��	
�
�	������������������������	�����������
�$�����	��0�

��	�/	��.�/���	�2��������	�����	�������������	���������	�����������	1������
����

���	0���	,�$���������0�����	�����	��������	,�1��	������
��	�����	������

����	�����2	����	�$	�������0�����	������	��$�����������	�����0���	�����������0�

�����	1���
��������	�������	�����
�	�������������	�$	������������������	�


��2	����0������	.��

�


	���
1�����	���	�	����	���$����2�����������������	�
	�������	
�	����

��$$������	
����
�00	�	��������$�����	�1���	��	����������������	��������������

��������	�����	�����$������
	���	�
���2	��	2	�	���$��������.�%�	�	������6

0��$������������1�
	����	
�����2��
����0�������
����0��������0��
	��0��$	������

���������	����		�����$������	���	���������	�����
��������	?������1���	������

���	
������$�����	������$������������	�
	�������	
�	������	�������	
1�

��	�	��	
���
������0	��	
��������������0�����
�����	��.�3���	�������������$��	�

�����	
�	���������	1���	�������
�������	�����������0��$����������	�����
�

�����		����	������	
�����	���������0����	��$	
���	
����������	�
	�1����	1�������

��
�	��������.����	����������	��������
��������
���$$�����������	�
	��

�����	
�	��		
����0		
�$��	�	,���������������	�
	���������������	��	�4�

��$	�A����
����	���������$�2	$	������	�	���	�������$	��������0��	�
	��

	?���������	�	,����	
���
����������	
C���
�	
�����������B	���0��$����������

�������������	,���������	�
��0����	6���������������
�2�
������
�����	���2	�

�
	�����	�����������	����0������0��$������������	�������.�7�2	��������	�
	��

����������		��������	�������������
��������������������	��������
�2�
�����	2	��1�

0�	,����������
�2���	��������������	�����	��	�����.�

�

%���
1�������	��0��������������0��	��	����	��������������	��	����������������

�	�
	��������������	������	.�%�	�	���0��	��	���00	�����������
���0������	
�	�

��	����
��	
1���������	������
	�	
��	����$��	1���
�������	����	��	�	�2	
.�

8���	�����	�����������
��	����
������	�	1�����������
��	�����������	��$	�����0�

����������	���	�����	,�	����	�
	���������������	�������1���
����0��������	���	�


	2	���$	����0�����	,�6��	��0��1�0�����@�����	
A����������������$$	�.�3$��������

0��������	?����������	��$	��������
	���	������	���
����	��0�
�$������


�������	���0�
	2	���$	��C���	�	00	�����0���	����������������0��	�6���	����

$�
	����0�	����$���
	2	���$	��C�������������������	��������������������	�

	$	��	��	��0�����	��0��������	C���	�����������0��	��������������������������

	����	�������
	2	���$	�������	��	�C���
���	��������	�1���������	����
�



�2�

������	���0�����������������
�$	��6�	2	���������������������������������

�$�����������	������	���
�������	�
	���	�������.�

�

+�����1��������
	���	�	�����
������	��	�1�����$�	���0���	��0���
�00������	���	�	�

�
	���0�	
���
�
������	
.�/������
	2	���$	����������������1���	�	����0�	?�	�����

���	�������	��		����	��		
�0�����	��	��������������������	��0��	��������	�
	��

��������������������	,����
�����	������������������
	���������0��������B�����	1���
�

��	��		
�0���@���������A��$��	$	�������������	��	�������������	
��	���	�����	���

������	��������	,	����	.�%�	�	���	������0�	?�	�����@������������������0�����A���	�	�

���	$�����������
���������	��0����	�
	�����������������������
������	6	,�������

�����������������������	����
�$	������$�.����	��	�	�����1��	�
	���
2����	��

$����		
�������������	��������	����	��0����0�������������	�����	��	����
�
	2	����

�������������0�����$����	$	��.�7�2	����	�	���$����2���	����0�����	,������������

�	�
	��������������	������	1��������$��������������	�
	�����������$�
	���

�������	����
�2	���0�1�
�������������$������$	���
����
����������������������0�

��	������������0	����	���0�	��������	,�.�

�

�	��$$	�
�������	$	������
��������	����0	�	��	�����	����	�	�����	��	
�

��������		�$������	��4���	��		
�������	��������0�����������		������	��������

�	�
	��������������
�00	�	�������	�C���	��		
�����	�	���	��	���	�
	��

�����	
�	����
��2	��	�
	���������������	��	�C���
������	��	��0����	6

��2�����������	�
	�������������
��	6��������������	�
	�������	
�	.��

�

%�����������������
������
	�$�������	���������
�������$		���������	��0���

�	0�	�����������
��
����������0��	�
	�������������������
�00	�	�������	,��1���
�

�����	�
��0���$������1�	2�����������
�
���	$������������	����������	����

�	�	�������
���������.�3�������
�����		
����������	����������	
�	$	����0���	�

�$�������	��0�����	����@�����	
A1�����	,������	
��	�
	����������.���

�

7	�	��������	���	�
	�������	
�	���2��2	��0����	��������������	,����������

�����	
�	���������0���������	����0����	�
	����
�
	2	���$	����������
�00	�	���

�������	����
����	��������	����	��0�������������������	��	����
�����������

��������	�����
�00	�	��������$�����	�1�����	������0��������������	�
���	$���������0�

������	�������	
�	.�3��������	?���	��0����	�����	�����������	��0����������

���������������
�����������������
����������	��������	�$�
	����������	$.�

"������	�1������������������
������	��������	��		����������������
	2	���$	���

����������������
��������$�2	$	���1���
��	��		�����	���0��	�	�������
�

�������	���	����	�������	���������	��0�����	��	�	��������0���������������������
�

�����	��	��0���������������	�0�����
�.��

�

�	6��2�����������	�
	������������������2��2	��	6����������	�����	�������	��		��

�	�
	�������	
�	���
����������	��$����������.�%���������	������$��	�	,�������

�������	
�	$	����0���	�����������D���
���	�	0��	���$	��$	�����0��������D�

�����	��0������	�����	��	�1���
��0���	����0������������0����	�����������������

��	$.�3��������������2��2	�	������������
�2	��������
�0�	,�����������$�
	����0�

��������1������������
���2	���������������������	�2����$	������
�����������	�

�����	��	��0����	��������	�
	����������������
�2�
����A���2	
�	,�	��	��	�.�



2�

�����
��

��	��	�
�


 
 �
������������	�                                                                                � 


 
 ���
�	���
�������                                                                              ��� 


 
 !�	����
	���                                                                                          " 


 " #$�����%
��

��	��	��
	����������
���
������
	�������
��



��	��	��
���
	�
�                                                                                 & 


 ' (������
�	���
������
���������
)
�
�����	�
��
���
	�
��


��
�
�����	�
��

��	��	�                                                                          * 

� � �(�#�2	��	�����2���	� ................................................................................ � 
3�����$	�������������� ............................................................................. � 
7	�
	��������������������0����������������	��� ........................................... � 

� � �(�#�2	��	�����	,��................................................................................. ! 
��
	����0������	� .................................................................................. ! 
<	2	�����
����	���0������	� ....................................................................  � 


 & �	��
	����
������
�����	���
	+�
�����
	���
���


��
��	���
��
������
���������                                                           "' 

� � �(�@#	2	���$	��A..................................................................................  � 
� � �(�:	�6���	����������������� ....................................................................  � 
� � �(�������������������	� ............................................................................  - 
� � 
(�%�	�����������0��	������ .......................................................................  ) 
� � 	(��������������...................................................................................  ) 


 , ���
���


+��������
���
���������
����
�������                                 "- 
� � �(�:	������������	��		
�0�����	������
���	�
	$��
�0�����	����������............  * 
� � �(�/�������������	�������	�����������������4��������������������������.........  ! 
� � �(�8��0�����������	����
����0����............................................................  ! 
� � 
(�=$��������
�2	�����.......................................................................... �� 
� � 	(�+����������������	��	��� .................................................................. �  
� � 0(����$������$	���
�............................................................................ �  
� � �(�#�������$��	��������������������$�2	$	������
��������	� ..................... �� 
� � �(�"��	�������$����C�
���$	����������
���$$��������� ........................... �� 


 . !����
�	����
���
��
�������	����                                                     '. 
� � %�������������0���	��	�
	��������������
����	........................................... �) 
� � 7	�	��������	�������	
�	����0		
�������	�
	���������������	��	� ............... �) 

8���	,������	
������	
�	� .................................................................... �) 
"���������0�����������������
�������������� ................................................ �� 
"������	����
���������������.................................................................... �� 

� � 
����	��	��0�����������	�
	�����������0�����
� .......................................... �� 
�	6��������������	�
	�������	
�	� ........................................................... �� 
=������������
�2	�����1�0�	,����������
���$$��$	���..................................... �� 


 
 �����
�/
(�������
�
������                                                               '0 

 
 �����
1/
���	�
����	
2��	                                                                     && 

 
 �����
(/
���	�
����	
1���                                                                    &3 

�

�

)E#	2E��. ��E�#E���
�����	������1�))*� *��



2��

�

�



�

4����	
����
	+�
!�	����	�����
5!�

�������
�



�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�
 

�

!�	����
	���


%�������0	�	��	���$	
���������������������	��	�
	�������������
���
	�����
�����

���	���
��	����������������	��	00��������0�����
��	�
	��	?�����������������	������

D�$�������	�
	��$������	�$����D���
������	�0����	 .�3�������������	��	����


�2	��	��������0��	���	�0��$�0�0�		���������	��������6
�������"0����1�"���1�<�����

"$	����1���	���

�	�=���1�:�����"$	�������
�=����	���
������
	
����$��	���

���	�����������	�	����	��1�����2����1����
	$���1��������$��	�����
�
	2	���$	���

����������	���.�/���	���	�����	��0�
��������	�1��	���������������	,�����
�

�������������������������	��	�	��	
�����2	�����
	1��������	�	��	���	���
����

��$$������������0	����������
��	����������	�	��������	����
������1�

��$$������������
�
���	$���������0��	�
	�������	
�	�������$��	��	�
	��

	?������.�/���	�0	���	���	������	��������
	���0�	
�	���������$���������@�	�
	��

�����	��A������	��	��	��0���	�����
	
��	�
	�6������������������	,�	��	��	1�

$�����	���	��
	���0�	
��������2����@����������A��0���	���$�	���0��	�
	��

������������	����
��		����2��2	
�����1���
�������
������	,�	��	��	��0��	�
	��

	
����������
����
�	�������	��0�����2�������0��$�.��

�

%�	����0	�	��	��00	�	
�����$������������������������	0�	����������������������

�	�
	�������������������	2	
1���
�������	��������	���������	����0�����
.�"��

�������		��������
��������
1���	���$	�������	�����

�	��������$������	�

�	�$	
��������$����	�����	�
	����������1���
���	���	2��	�����	��	�������������

���������������	2	
���	�	,�	��	
��	�����.��

�

%�����������	������	��	��0������������������������	�

$��	������������2	���	�	������������
������	���


��	����������
	2	���$	�����	���	�1�$�����������	�

:����.�8���	����1���$	�:7�����
������	������
�

$�������	������	���	����	�����	��������	������	���������

��$	�1����������������$	�A���	�
	�����1�

	$���	�$	�����
�������.�+�����$	1������0��������

�	����2�	�	
������$��	$	�����������	����	�
	��

$������	�$����	00����C�0������	��1���	��$�����������

��	��	����	�����.�/���������	���������������	���������

�$�	����2	������$	�A�����������
������������	���$	1�

����		
������	������	
����������	�����	,���0��	�
	��

�	�������.�3��������		
������	������	
����������	��	��

��
	�����
�����0������	�
	�������	
�	�������
��	
1�

��
��0���	�0���������0��	������������������$$������	
���
��	���
��	
����


�00	�	����	������.�"����$����$���2������0�����	����0	�	��	����������������������

�������	��$������������0�����
�����	�
	�������	
�	�����	��������������������	����

��	������������
�
�
�������	�������$�
	�����
�	$������	������	
�	���?���������

�2	������	��	���0��	������.��

�

"��	,�����	
����8���	���	�F�
����1��3%������������������������������	�
	��

��������.�3�������		�����
�����������������0���	����		���	��������������������
�

�����0��$���1����=����	�����	����������	����������������1
��
��	�
�/�$	�����

#	2	���$	���'/3#(������	����	2������������.�%�	����0	�	��	��	��	�	��	
������

�0�����
	������	���0��������	
�����3%����	����	��������	�����	��0�������	�
	��

�����������
�	
���������������	$�����������	,��.�3��0�����������2	���	�	��������


��������������������	
��������������	����
�:�2	$�	���������
���	�

���������������������������0��������		��������
�������
�+���>�/���A��	
��	
�

2���$	���������� �!��������
���� "��
���
#�� �
�����	
#�� ����!������

���$��� �.�

�
 ��		�"��	,�"�0������0	�	��	���	�
��
���		�"��	,	��9���
�8�0����������������������
�������	��	���2	���
�



�

�� 4����	
����
	+�
!�	����	�����
5!�

�������
���
�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�

�

�

3�������$��	�
���������0������1����#����	������	�����	$��
	
���1�����

���0	�	��	������	�
	��������������������������	����9	��	�1�:��������
�����3%�

�����	�	����� !!��.�%�������0	�	��	�������	��0���	�0�����$�B������	$��������	�

�������$	�����	2�	����
���������������	���������	�
	������������	��	�	���.��

�

+��������
���	$	��0��$	
���	��������	��0���	����0	�	��	1�����������
�2�
	
�

�������	��������	���	�������0�����	
�����$����������
�����������0������������	��

?�	��������
	���0�	
�
��������	���	����.�%�	�0������	�������	$	���	�	4�

7	�
	�E	
������	
�	C�7	�
	��%������������	������C�7	�
	��%����	�����
�

"
2����	�C���
�+����	������	���.�#��������������2	
�����	���
	6����������
�

0�	?�	����������6�	0	�	�����.��

�

%�����	�����������������	����	�����	$	��������	�	��	�����������	�
������������0�

��	����0	�	��	���
�����������	
������0�2	��	������.�%�	��������

�	��	����$	�

����	������	��������	��������	��0��	�
	�.�%�	��������
������	����	���
	�

����	��0��������	����
�����	,������������������
�0��$������	����
���������
�

��$$�����������0��	�
	�������	
�	.�%�	��
����������$��	�����	������2�������

��$���	�����0������������0	����	����0��	��������	����
��������0������	
�	���
�

�����	�	���������
�00	�	�����
�	��	�.�%�	���%��
��	����������	����$	���	��0���

���	���2	
�����	����
������	��	�1�	�������	���������������		������	2	
�

���������	�
	�������������
�$��	���	2	��������	�������0����	6��2������������	�

��	�	.�+������1���	��	�������	�	�����$�������������
��	��$$	�
������.��

�

�

�
�

�



�

4����	
����
	+�
!�	����	�����
5!�

�������
�



�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�
�

�

" #$�����%
��

��	��	��
	����������
���
������
	�������
��



��	��	��
���
	�
�


"���	�����
��	�	��	
���	$	��0���	����0	�	��	��	0	��	
�������	���0������	$��

�����
���	��	�$���������0��	�
	����
��	�
	����������1�����������	�?�	�������0�

��	��	����	��������	��0��	�
	���������	�0��		��������0���	�@�����	$A�����������

�	�
	��	?�������0�����
.�

�

%�	��	������������	��		��@�	�
	�A���
�0	$����$1�����	������	��	�����0������

�	�
	�������������$���������	2	1�����������	��������2��	
�$�,	
���
��0�	��

������
��������	�����	�.�%�	��	����������������������	
������$	�0����	��������

����	���
�������	���0��������	��������	�	�����.�"���1���$	��	���
�������

	��	������������������	�
	������	������	����	��������
	�����������	���$	�

���
	�.�+�����	�����	�1�@�	�
	�A�������	���0��������	���������	��	
��	����	��0�����

�����������������0	$����$����������������������	���$	����������������	����

0	$����$��0��	���������	���0��1������0	�������1���
���������	�

�0��	����@��B	���2	A1����
������	
�����������		�

�������
�������
�8�������	�G	�������.�H��	����	�"�����	�

��$$	��	
�����������$	�����	,�����������������������	�����

������	
1�����������	���	�����	0	���������	����$�������	�
	��

	?����������@��	��	�
	����$	�A���
���	�������2���	�����@
�����

�	�
	�A1���
���������	������������	�
	�������
	����		�������

�	���0���������	?���	
������0�����������������0�?�	��������	�

�	����$���.�/��1���	����	
1�������	���$	��������	�����

������	
�������	0	�	��	�������	��������������	����	��
	�������

�������������	?������	�������������	���
������I�

�

���	�2	�1������	������������	��0���	�@�	���	��	�A��0�0	$��������������	�1���	�

�	�������������������2��	������	������������$������00	����������������$��	������

��	���������	
�0��1����������������������?�	���������������	�����
������

��	?������	������	�	���1�����������	�
	����	?������	�.�

�

%�	��	������������	��	
��	����������	��		��@�	�
	�A���
�@0	$����$A�D��	������

��$	��$	�����$��	
�����������	����������	��	�
	������	��D�������
	����		�����

�	�������	�������$	�����>�������0��	�
	����
���	��	��	������0�����

�����0��$���������	�����.�H��	����	�"�����	�����	��0�����0	$����$���
��	�
	��

��2	��	��$	��	�����	�
�������	�1�����������2���������
	�����
�����01������

�	���������$$��$	�����1�0	$����$�����������	���	?���	
�����	�0��$��	�
	�6

�	���	
�����.�#	���������	��	��

	
������������	�����������������������	
�

���
	$�����	���
���	�@�	�
	����$	�A�����	�$��	��������$0������	����@��������

�	�
	�A1������������������$��������	����	����@
�A���.�/�������������������1�

�	���������@�	�
	�A�0��$�@0	$����$A����������0��������	
�����������		��
���
��

�	0	��	
���������	�@�	�0��$���	A��0��	�
	�1�
	2��
��0�����������������0��$������

�$����������1���
������	�$���	
�@
������������������������	������	���������
�


����$	������	��	��������	���$��	�A1����"$���
����������	�2	
.�

�

������%��B�����;���	����	�2	
���������<�����"$	����1��������$	��	���������D���
�

��	�
	6������������������������$���	��D��������$���������	�����������	�

�	�$���������0��	�
	������	B	��	
������$	�����������1����0�2�����0��	�$��������

��������	,���������������������
���	�����	�����	��0	$������2���	�.�������������

�

	
��������	��������	��0��	�
	�������$	��$	���	B	��	
�������������
�	��������

��������������������	�/	�����
����������������
�$�����	�D��������	�	���	
����

3���	������	������	$������	
�����@	$���	�$	��A�$�
	���
��2	�������	�/	���

��
����:����	���0��
������	��	�����	����	
����<�����"$	���������������6	2��2	
�

$�
	����������������0����������������$�2	$	���1�������������������
�������

����	�.��

��������
���	
 ��
����
�
������
� 	
 ����
� �	���	�


��������



�

-� 4����	
����
	+�
!�	����	�����
5!�

�������
���
�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�

�

�

"����	������	�����	��	
�
�00������	�����������������@�	�
	�A�����������
�00	�	���

�������	����
������
�00	�	���������	�.�3��$�����������	�1���	��	�$�
�	������

	,���1���
���	�	����
�	�1�����0�	�������	��2	���
�00	�	���$	���������
�

��������������������	�'���������	
(�=��������������	�������.�F	���	�/���	��1�

	���	
����8�������	�G	����������
�+	��	�	��	����1�0���	,�$��	1������	
�����

�������	������	�@B	�0�����	��	��	A����+�	�������
��	�������
	����	����0������

�2	��$	�����1���
�������������	�
	�����+�	�����$���	�����	��	���0�
�00������	��

0�������	�������������.�%�	�+�	����7�2	��$	��1������	���������	�����	���������


�00������1������	�	�����
	��
	
����
������	��	�$���������0��	�
	�1���	0	���������

�	0	�������	�2	���
�00	�	������	����	
�����	����0�@�	,	A.��

�

:	2	���	�	��1������		��
���
�����	�2	
1���	���	��0���	��	�$������	��$	�$��	�

��
	���	�
������	����������	���1���
������<����"����F�������
�������������

�����	
��������������������������	�	���	��	�$�
�	��������������	1��	���	���2	�

0���
���
��������	����0��
�������0��������������
�����������������������
���	�

����	���������	�����	��������������������.�F	���	�/���	��1�0���	,�$��	1�
	�����	
�

��	�	,�	��	��	��0�����$$������
	2	���$	�������������������%�$���:�
�1�3�
���

������	2	����
�����0��$����	�
	�����������
���
�������	�	������	����������	���

�0��	�
	���	�06���	��$	��.�%�	�

���������������
��������	�����

��	��������	��0��	�
	��

	?������1�$��	�	�������		����

���	�0�����	�$���0���$$������


	2	���$	��������$����


	2	���$	��.�:	2	���	�	��1���	�

���	��$	�������	����	2	��	
�

�������	����������������
�

����	2	
���$�B����$����������	�

��2	���0������
���1������$	�.��

/���	���	���0��	��	��0��������	�

��������	�
	������	���������	�

��
���2	��		����$$������	
������	����������B	����	?�������0����	����2	����������

��
�	����������1���	�	����	�2�����������	���������������$������������
	���0��

�������������	�	��	B	�������0���	��	�$���������0��	�
	�����$��	��������2��
����

��	������	������$���	�1�����������������������
�00������	�.��

�


��$�$��		������	��	
�������	�
	�����������D��������������������������1�	2	��6

���	��	
1���������6����
	
�0��$�D�$�����2	��		���	�������	�����	����0�

������$	�����>�����1�����0���������������	�	��	
�@�	�
	�A�������	���0��������������

�����	���������0�����
���
	��2	�	
���
��	���
��	
1�����	������������$	�������

0���������������0��$�����.�9	��������	�	�����	�������$��
1�"�
�	��8��������

���	
���	��	����	��	�
	��$	�������������0����
��������
	�
1�����	2�����2	�

���	�����	���	2��������������������������	��	���������2	�	$������	
�@��������

����A�����	�������@�����������A1���
�	�������	
���	������������0���������

����	
����0��$	������
��	$��
�	
�0��$���2	
�	,�	��	��	.��

�

%����0��$���������	�����	
���������	�	�����	
�����	����������	��	�$���������0�

�	�
	�������	��$	�����	����������������	
��������	�����	����	��$����	�

��
	�$��	
������	�����
�������������	��$���	
�����	�
	��	?������������.�3��

��������	
�������	$��
	���0���	��	���������	��0���	�����������0���$��������������

�����0��$����������	��	�1����"���/���	�	�
������	
����.�%������������������	��0�

����	��4���$������
�$	��������	������������������	��	
����
�00	�	����������

�	����	����������	����$	��������	��������	�������	���	
������0��	��	�

������.��

�



�

4����	
����
	+�
!�	����	�����
5!�

�������
�



�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�
)

�

F���
���	�����	�������������	����������0���	����	�0���

����	�������
��	
����0	$������	����	$�����	�I�������������

	$������	
�������������$������������	����0�
	�����
���	���

������������	�$	�����	���	���	��	�
	���	�$�������1�����

����	�����	��������	�	���	�
�00	�	��������	���0�$	��������
�

�0��������	�����	���������.�3���	������	��	�������	
������������

������$��������������������������
������
�00	�	���$	������1�

��
������
	����	���	������	��	��0���$���1��	����	������$����������	���@����

$��	������������A.��

�

�

�

�
�

��

�����	���
	���	��������	��	������
�	

�
• 
	���������@�	�
	�A���
�@0	$����$A��������������	
�����	��	�����

��	������0��$���������	�������0��	�
	�������	
�	.�

�
• %������������	��	��	$����������@������������A��2	��@��������

���A���
��2	����	�����	����0��	���������2	����������	
����

������	�������	�
	�������	
�	�0��$����������	��$����������.�

�
• %�����������
�00������	�������
���	��	�$���������0��	�
	��	,�������

$�����������	�1������	������
��	���	�������������������	�	�
��	�	�
�00������	����	���	
����
	������	�
	��	?����������B	���.��

�
• 8���	�����2	����	�$	�������0�����	������	��$�����������	�����0�

��	�����������0������	.�/	��		
�����	�����	��0������	��	�������	�
$	�������0��	�
	������	���1�����	������������������	�����
�
	�������������	�$	������������������	�
��2	����0������	.���

�

��

������
 ��
�
�����	��

 �������
�	���	� ���



�

�� 4����	
����
	+�
!�	����	�����
5!�

�������
���
�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�

�

' (������
�	���
������
���������
)
�
�����	�
��
���
	�
��


��
�
�����	�
��

��	��	�


�6
�������
�
	���	���



�

"�0����	����	����	
����	�
��0���	����0	�	��	������������	�	����	���$����

2�����������������	�
	�������	
�	������$$������	
����
�00	�	��������$�����	�.�

8�$$�������������B	��������	1�0���	,�$��	1�0��$���������
���		�	�	
�

����������0������	���������	?���	
�������B	������������$$	�0��
	��������2	�

@�	�	�2	
A��	�
	����������1�����������$�2	$	�����������2	���$	��$	���		�������

���	��0����������	����
���������
���$$�����������0��	�
	�������	
�	.����	��

���B	��������������	2	�����	������
�����	��	
��������	�	$�	

�����0��	�
	��

�����	
�	�����	��������
	��������2	��		��	,�������������	��	
��������	�����	���

�0���	����������������������0�@���B	���A�D���
�2�
�������
���	����������	����	������

�0�D���������������������������0��$������0�����
.��

�

�����%	���
����
���� �

�

��	������0�������$	�����>�����	�
	�������	
�	������		�������$��������	�

�$������0���$	��2������	�0�����$$������������.�=,�	��	��	��������������
��0�

�	�
	���������������������$���������0	�	��	�������������.�H����
�����

#�������1�0���	,�$��	1�
	�����	
���	�	,�	��	��	��0����
���������	��	�
	��

��$���	����0����6-�
���������������
	�����/�
	�"�������	��'
/"��(������

�	������00������������	�����������0�F	��������3�
��.�/���	������
	����	���	���������

��
������������
��		����
	����	�����0��
�������0���	�	�������	�
	��

�����	
�	���������������	�	�

$	�����0��������	������		��

����������
	�����������	�


	���������	�
����0�����

�����0�����	1���	����������

����0��������	
��	
�����������	�

-)6$����	��	�����.�

+�������������	�	���	��0�������

���	
����$��	���	���

��0��$��������������	���
�

�2��
����	�������	���	����

0�����������0��$	��������
�

��	���������������	������		��

����
�	������@�����A������	�������.�
�$������1�"�	����3$�$�
	�����	
������������

������	�
	2	���$	�����	����������		�����	�0���������	�2������
��0���$	�A��

�	���
����2	��	�������
�������.�%�	���	������
����	
�0������������������	����	�

���	�
	���	�����2	���
����������������������	���$�����������������������������

���0	$��	��	������$���������.�%�����������������	2	���������������	
����������

�������������	2	���������	�������1���
����	������	����2	�����
	��1��	?�	�����	�	�

$�
	�0�����	�����������0��������	��$��	$	�������.�


�

+��
	���	?���	$	����0����	�
	����������1����
��������
	$��
�0���?�������
�

	�������������1����	�������	����������	������	�	���	������.�F��	2	�1���	�	�

�	?���	$	������	��0�	������$����	
������
	��0��
	��0��$	���������������	���

�		�����$������	1�����	������������0��$1���	���������	����������
��	���	?������1�

���8�������	�G	�����������	��	
.�%�������������	�	������1��������	������

0��$���1����������������	�$������$$������	���0	����$���0�	
��������

�����������������	������1�
�������������������@�������A��	
�����1������?�	
����

������+�	��	���
����	���������������0��$��������	�
�.�%�����	
���������

��
	�����	
������$�
	���0��	��������������������	��	�	�2����	
����������	�



�

4����	
����
	+�
!�	����	�����
5!�

�������
�



�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�
�

�

�		�����	$����2	��	�������	�0���	
�����������	
�	.�%����$�
	�����������$	��

�������	�����	?�	����	���
��������0�����������	
�	���������	��00	��	
������	���0	�

	,�	��	��	������	�����	,���0���	������		.�

�

%�	�������$	�����>�������0��	�
	�������	
�	1����	2	�1������	�����������$��	
����

��	��	�
	��������������������	,�	��	��	.�3�
		
1���	������0	��������0���	�	�

���
���0����������������		�����$����	
�������	�	�����	
��	��������������������

�	�
	��$������	�$��������	�9	�B������������	$����������	���@�	�
	�A������

��������������
	����	���	�����$	��$	���2	���	�$���������������B	���2	�1�

������
���������������������0��$	��������
����	���2	���������	�1���
��2	���

�	�������	.�%�����	������������������0�	�����	��������	0�	���

��
	���	���������	���������	�����������	�����������	�

����	��4�"�	����3$�$�
	�����	
���	�$������$$�����

�
���	
�0��$����0����	�
	��$������	�$������1�@"

���

2	�		���0��	�
	��	?��������������	1�������$	�1���
�
��

:�%�����A.��

�

��	���������������	�
	�����:7��������$$	����
����B	����

�����0�	��������		����$��	
1�������	�2	
����=�����	���

F�00$��1������0������������������
��	�
��	1�D��	���������

��	��������	�
	$��
�0���A���������A������	��	����
�

��	��������D�����	����������	�����������������������

�	�
	��	?�����������	�	�����1����������������
�����		
����

��
	����������	��������
���	�
	��	?������������.�3����1����	2	�1���	�	�����	��

������	?���	���	�
	2	���$	����0�����	������
	���1���$$��$	��1���
�

���2������.���	��	������0���	�	���$���0�	
�����	��	���0�@	��	�
	����A�

�������������������������������	�
	��	?������������	��	
��	
��������������,	�4�

���
��������	�	������	
1�A7	�
	�������	�	C���������.A��

�

#����6
��2	��0��$���������0����

�	�������	�
	����	?������������0��������

�	���������������
	��2	�	
������������
���		���	���������
��2��
����0����1�

�����	��	1��������������	���������	������
������������	��������$�����	4�

�����		��
���
������	
��0������	�
	�������	
�	���������0��$������������

��$����
�����	������	�������������	����	������
�	���
�	.��

�

!��������
���� �
���
������
���� ��� ���������

�

:	2	���	�	��1���	6������	�����������	�2	����������	?������	������������������	�

�������	��0��	�
	�������
	������	����
�����������	��������	����������	���	�����

0���0��$���	������$�
	���0�@�	�
	����������A������	������.�������	������

���������	
�����
	���	�
��	���$	���������	�
	����������������
������
��	�

�	�����>	
����$	�	������	����������������������������C������������������0��$�

����������
	���������������
�������������	������	����
�������

�	��	
.�3���	��

����	��	$������	
���	�����	��0������	�
	�2������
�����	��	
�������	��������

��������������������0���	�0�����	��0��	�
	������������	����	1�A/	���2	�����0���	
.�

/	���2	������B�����	���A1���
�@%����0��$���������	���������
���0��	���.A��

�

%�	�����	��0���������B	��������$	��$	��$��	�
��	������	0�	��	
��������	�6�	�$�

�����	��	��0����	�
	��	
���������������2	���	����	����������������	�����	��	���0�

�����	������
		�	�������.�
���������	��	����2	�	,���������B	���2	���0�0������������

'�	�0(�������	���>��������
�����
��������	���2	��
	������0��������	.�%����������	�

���	1�0���	,�$��	1�0�����	����B	�������	2	����<�����"$	�������������	��
	�����	
�

���3���	������	�1��������		������
	2	�����	��$������������1�����	���2	�

�����	
�	�����������	������0�	
�������.�

7	�
	��	
��������������������	�����	��	���
�@	
���������A��	������1���������

��0	�	,�	��	��	���
������������������	�D���$	��$	�1������������	��	
1�$��	�

�������
�������	��

������
���������
���
��
���
�� 	�� 	
 ����
�����	�� �  �

!�����



�

*� 4����	
����
	+�
!�	����	�����
5!�

�������
���
�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�

�

	00	���2	�������������	���������	
�	�2����$	�����0�����������������������.�=2	��

�����	����	��	��0�����	��0�����	�
��0�����$	�A��	?����������������1�����������

�������	���
�$�����������������	����������	��������
���	�
	�������0��$�����.�

H����
�����#��������
	�����	
���	�����	�������������������$	���00	��	
����

��	�;�����8����
	������	���
�����	�����9�����1�:�����3�
�����
�
	2	���	
������

�	���������
�������������
	�����
������0��	�
	�1�����������$������	������������

�������.�%�	�	���������$	�1�$�����������$���
�$�����������	���	1���
�


	2	���	
���	������������D������
����������	�����	
����
������0�	�$������
�

�00	��	
���$	����
�$	��
�00	�	�����0����������������
���������	������D������	�

����	����0����������
�����	���������	�0���B�����	������
���������	����
	�����	��

��
�
	2	���	
.�
�	���$$	��	
��������	�	���$	����
��	2	���		���	����	����

�0��	�
	��������������	
�������1������	�
	�	
������	
�	������	2	���	�	���

	$	������0��$���	���	,�	��	��	.�

�

F��������	�
	�����������
���������	������������
�����	��	���0���	�	����	��

��������	��������
��������
���	���������������	�
	�������	
�	I�F����������

��	����������������������	�������������	�������$	�����>����������	��	������	�����

��
	��������$����
	2	���$	�������	,��I���	������	���	$	��	
���	�����
������

��	����0	�	��	4���	��	�
	���
2����	������0��������	������������������2	���		
����

$�������������������	������������	���$	�A����
����	���������$�2	$	�������

��	�	���	���	����	����	�	���	�������$	��������0��	�
	���	����������	��0�	��

	,����	
���
����������	
.�

�

�
�

%�	������	�����	��	���	?���	
��������	2	��	�
	��	?��������������������	�

	�2����	
�����������	����B	��.�/�������������	�������	������$	�A�����	�	�������


	�	�
	��������	�����	,�����������������	����������1�����	�
	���	��������

$���0	�����	$�	�2	�������2���	����0�����.�F����	�
	���	����������	�����	
�����


	�	�
��������������	��������	���������0���	����������������������������������
�

��������������������	���
��	���	$�����������	2	��1���
�������������	���

���	��	���������������	����������	�������������������	���
������.�/�$	��$����	�

��	���$$������B	�����0��	�
	����	?������1���������������$	����2���	���������

����	,��1���
���$	����	���������
�2�
	
�����������������	?������	����������������

��	$����
�00	�	����	���������0����	�����	�������	�.�+���������	����1���	�	���������

�����$��	�	����@�	A�������������	���	���������0������2	������	�
	��	?�������

���B	��.��



�

4����	
����
	+�
!�	����	�����
5!�

�������
�



�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�
!

�

�

/�����������������	������1������$	��������������	����		
�����	�0���������	��0�

��	��������������������1�	��	������1�������������1�����	���������������		�.�%����	���

��	��	���	��0�		�0��$���	���������0	�	,�	��	��	���0��	�
	���	��������D���������	�

0��$	
������	�����	,��������������	����2	���2	
1���
���0��	��	��������	��

�
	���0������	�	2��������	����������	��	��0��������	.�:�����	���	��0�		�0��$���	�

	00	�����0����	����������	������������������	?�����������	���
��	
1���������

���	1���������
�	��������1���
�����������	������	��������	��0����������������

���0������������0����	�.�3�����	�����
�1������	���$�����	�����	��0���	���

������������������	�	���������	����
���	��$������������0�����.�

�

7������	����$�����	?������	��0����	�����	���������@������	A��0����	�.�7�����


������������	0	��	
����	$�	

	
�����$������������:����	��������	�����	�$��	�

��$�	�	������������	�0��$���	�
����.�8�����
�2�������������0�	����������	���	�

�����	��E������		��	����������1���0��	��������	���	�	���������0��	�
	�������	
�	1�

��
���	������������
��	����$������2	�����
�00	�	���	,�	��	��	���0��	�
	��

�	�������.��

�

:	2	���	�	��1����
��$�$��		���	$���	
1���	����	��0����������$1���
���	�

��
�2�
�����$���
	�����������1������	�
	
����������	������������
�00	�	��	�������

������	���
������1���
���	�����������������	�����	��	��1���������������������1�

�������	
�������
��	����
���������	����$����������������	?���	��$��	�	,�������

���	�����.��

�

�6
�������

��	��	�


�����������

� ��

�

7	�
	�������	
�	����
���������
�	
�����������	������	��������
	�2���	����0�

����	,��1���
�����������
	���0�	
�������	��0������������
������
�2	��	�

��������	�������	���$$�����������0�����������	
�	.�"���/���	�	�
������	
�

�����������	�
�$������$�
	����0�������������	���0��	��	���	�������������	�4�

$�
	����0���������	�����������0��	��	�����$���������
�	,��	��������0�����

�����	�����	��1���
�������		
����������	.�"
2���	
����������������	��	�1�

�������		��	���	������
�2�
�������	���������
	�	�
	������0�	�������	����
�

��0��	��	
����������
	������������	�����������	�����������1�
����������

��
	�����
�����0��	�06����	����	�������������������
�2�
��������	����2���	�1�

�����
�����	�
	���
	�����	����
��	�������1�����������������������������	���������

@0��������	$����2	��	��A.�%����$�
	������	������������	����������	�����������	�

@�������A��	
����������������	���	���	�����$	
������������	�������	
�	���
�

�	���
��	��������	����2	�����������0�����
�����1��	?�������	��	���������	��������

������.��

�



�

 �� 4����	
����
	+�
!�	����	�����
5!�

�������
���
�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�

�

���	��$�
	����0������	1�������������	���0��	��	
�������,�����������1�

	$������	���	���������������0���
�2�
���������������	������0��������������
	������

D������
�����	�
	���
	������D������	�����	,���0���	��0�����������	�������.�3�������

0��$�������1���������	����������	���������������������	�@�	�0A�����������01���
�����

$	�	�������
	����.�%�	�	�

�������2	�����������
�00	�	���

��B	�����0������	�����	������


�00	�	�������	��	���������	2	�

��4������0��$��������
�����
������

��������	�����	2	
�2���������	��

�0������	
�	������	?���	��

����	���2	��������	���
�����������

������	������������������	���	�

��	��	6���������	
�����	����������

	�������	�.�%�����	6������������1�

����	����	,�������������

�$�����������0�������$	$�	����0�

����	��1��	?���	������	���2	��
	����������	���������
�@����������	��A�����	�


	2	���	
�����������	�����>	���
������	��	���	���	2�����	��	�������	���������


	����	
����	$�������	
��������	����	�.��

�

&������
�������������

� ��

�

8���	,���������������$��������0�����0��	���������������
	���0�	
�����		
����

�����	1���
���	�����������	���������	��0�������	2��������1�����������	����	����

��0��	��	�������	�
	�������	
�	�����	�	�2	
.��������		��������
�����

���	�2	
��������$	�����	,�����	��	�	���2	���������������0��$����������0�

�����	
�	���
���$	���	��	�����������������	.�3$���������1���	��	�	�������0�

�����	
�	�
	�	�
��������������������
���0������	
�	���	������
	�	
�2���
����

�����������	�2����$	���.��

�

���	�2	�1��	���	��������������	����
���������
���$$�����������0��	�
	��

�����	
�	���������������	��0�
�00	�	���	�2����$	���1������
�����������

$�2	$	���1���2	��$	����������������1����
	$���������������1����6

��2	��$	������������������1�������	������������
�
������������������1����

��$$�������	2	��1���
������	�����������.�=�����0���	�	����	������
�00	�	���

����	����0��������$��	�������	$��0������	
�	����	�����	����2���
���
���	�	0��	�

���	����$��	�������0���������.��

�

%�	�������2	�����	����2	��	�	�������0������	
�	�$��������
	�	�
����

��
�2�
����.�/��������	���������	�	������	�$�B���
�00	�	��	������	�����	�����

�	�
	����������4�"���/���	�	�
���2	���	�	,�$��	��0�����=8#6#"8���������1�

��������
��		���������������	���	
���
������	
.�"��	�������		
�����	��$	���

��
����	������	1���
����
�
���$	����������	���	
1���������	������	���	�

��2��2	
���
�
�00	�	����
	�������	�������������	������	
�0��$���	���������1�

	2	����	�������������
�00	�	��������
���������	
.�%�	�	�
�00	�	����	�����	��

$���
	��2	�0��$���2���	����0������	�������
�����	�������	,�	��	��	1������

�
	�����	����
��	�����������1�
�00	�	���@��$0�����	2	��A��������������������

��B	���2	����
�������0��������.�

�

%�	�	�$���������	�2���������������	�����	
��	������0������	�������	�
	��

�����	
�	������	�	����	�1���	�	0��	��00	������������	������	
�	�����	�	�2	
.�

%�	�������	�$����	������0��	��	�������1���������	���	�$	������$����������

�����������������$��	$	��	
1�����	6���	����	��	���	������
���������B�����	�

��B	���2	���������	�������
�������������������$����	����0��$	��	���������
�

�����������������	.��



�

4����	
����
	+�
!�	����	�����
5!�

�������
�



�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�
  

�

�

3���

�����1���	�2���	����
���������	���0���	��������������$�����0��	��	�����

��	���
�2�
�����������������	�������	
�������	�����	����
.�%�	���	�	����������2	��

����	��������$��������0�	
���������������	0	��	
������
	����	��$��	�����0�

�	�
	������������0�	��	������������	����
�00	�	����	2	��4�����	��1���������������

��
���	��	�0.�"������	�$�
	���0��	�
	����������������������	2	������	��������

��	�	��	2	�����
��		
������	$����0�	,���	����0��$.�"��������	����	1���	��	��

�����	��	��0������$��������0����	�������	�������	�
�00	�	�����
��		
�����	�

�
	���0�	
.�3����������������������	�����	��	�1�0���	,�$��	1����	����	������0�	��

0�������������������������0���������������������������	�0���	��0��������	�
	�	
.�

%����$��������
	��
	���0����������
�����������0���	�����������
���������	��������

$��������������������
�	,������������	�	����D���
�0���
	2	���$	���

�������������1��������	�	�$	���0�����	�
	��2	����0�
	2	���$	��������$	�.��

�

"�����	�����	�1����	�����2	������	��	��$����	��	�	��������
�����������	4�"���B���

#�����2	�	,�$��	���0������	�
	����������������@����������A���$	��0���

	$���	�$	���$������	,��	��	
������	���$$�������	2	����	������	?���	��


�00	�	����������������	�
	�����������0������������0����2��	�	
�$	����������

F	�����������������	������������	������	����	�
	�������	
�	�������	������������

��
��$��	$	�������.�%�	�����	�����������	�����$�����������	�@�����	$������A4�

��	����	��	�������	�������	�����	��0��������������������	��
��������	����	��

��	?�����1���
���	$�	�2	������
�������	����2��	�	�������	���
	�������	�

����	��	���	����������.�3���������������	�������������������������������	��0�

�����$�����	�������
�
���������2���	����0���������	����
������.���

�

�

�

����
��������	�����
	���������	�����	����	��
��	

	
• 7	�
	����������������
��	��	�����>	
����$	�	������	�����������0��$�

����������
	���������������
�������������	������	����
�������

�	��	
.�

�
• %	����������������	������	�
	�������	
�	�
���	$����������2	��	2	�	�

��$��������1������
����������0��	�
	�������	
�	����������	
�������	���0�
�	���������������������	�������
�����������������	�0��	��0���$�	�����
��������	�����������������
�	��.��

• %����������������2	����
���	��	�
	���
2����	������0��������	���	$��		
����
$�������������������	������������	���$	�A����
����	���������$�2	$	����
�����	�	���	���	����	����	�	���	�������$	��������0��	�
	��	?���������	�
�������������	,����	
���
����������	
.��

�
• 7	�
	���
2����	���		
�����	$��������	��0���	��������������������	��������

�0����	�1����$	
���	
����������	�
	�1����	1���������
�	��������1���
��0�
�����������0��	��	����	����
���0��	�
	�������	
�	�	$������	
���
���	�
�	����$�����0���	������	
�	���	����$$������	.��

�
• 7	�
	������������	���������������������	����
�00	�	����	2	����������

����	��	�1�����������������
���
�2�
����.�"������	�$�
	���0��	�
	��
��������������������	2	������	����������	�	��	2	�����
����	�1����$�
	����0�
����������		
�����	$����0�	,���	.�



�

 �� 4����	
����
	+�
!�	����	�����
5!�

�������
���
�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�

�

& �	��
	����
������
�����	���
	+�
�����
	���
���
��
��	���


��
������
���������



�$	����	�����0���	��������������0��	��	����	������
�00	�	��	���	��		������	,���

��������	�
	�������	
�	�������
��	
1�����0��������������
	�	
�2���
1���
��������

����	�	�2	
��	�	�����������������������	
�
��������	����0	�	��	.�3������

	$������	
1�0���	,�$��	1��������	��	�	�������0��	�
	�������	
�	������0��	��	
�

������������	���B	���2	����
��������	���0���	�
	2	���$	���
�������	�������������

���������	��	
.�9�����	�
	���	����������
���	�����	��0��������������	$���	������

��0��	��	
������	����	�
��0�$���	��	����$���1�������������������������������	�1�

������������0	����	���0���	������6�������������
����	�����������	����	��0�

�	������1���
���������������0	����	���0���	�������������������������	�
	��

�������������	�����	.�

�


�$	��0���	�	���0��	��	�����	�����������	��	?���������B	���2	����
��������$���

������	�
	�������������������	2	.����	�������	������		
�0������	0���

�
	���0���������0���	�����	����������������	�����
�����	�.�/�	�	�

���0������������0����	����	���������������	�����	���
	2	���$	�����	�����1�

�	�
	���
2����	���		
�����	����������������	��������	�$	�������0���	�	������	��

0����	�
	���	����������
�0���0����	����������	�
	��	?������1������
�����	�
	��

��������.�8��	0�������������0���	��������������0��	��	��������������������	,�������

�	�����������0��������	�����	����0���������������	��
���	
1������0��$�����������

$��������	1���
�������	������$������	�	,�	��	
.��

�

�6
#����������	%



�

=����������	����0	�	��	1���	�?�	��������	�	����	
4�F�2	��	��		����J2	����

�������������	����	�
	�������	
�	��������	�����	,���0�
	2	���$	���
�������	�

��
��������	I�8���0	$�����������������
�	����	$�����	����	���	�	00	���2	������

��	�
	2	���$	���	�2����$	��I�H����
�����#����������$$	��	
����������	��	�

��
��������������������
	2	���$	�����
���	����	������������	��	�
	��

�����	
�	����������	����	�	������	�����
�����	��D����������������������
�

��$$�����	�1�0���	,�$��	�D��	�$�����2	���
	�	���$��	
���	�	,�	������������


	2	���$	��������	��0�����������������1��		�������	$	����������	���������	�	����

0	�������	��	�������	��������?��1���
�0��$����������	��.�#	2	���$	���

����������������	�	0��	��		
�����	��������	�	��	�$�.������	����	�����
1�

�	�
	���������������$��	����	��	�	���������������������������$�
	��D�����		���

��������������������	��1��	�����
������������������0��$�����1���
��������������	�

�����0�����	��0��	�����������	��	�.�/��������������@
	2	���$	��A���2��2	��

���$�����������	��������������������������������	?���	$	���1���
��������	�	������

�	�
	�������	
�	������		��$����2�������������$	�����>	
1�������	
��0�����

��
�������������������	�����
����������	��	�2��	��0��0�	��2	���������
�������

�����������
�����������B	���.��

�

/�	�	�
	2	���$	����������	�2	
���
�����	
���������	�$���0�������$$	���
�

���B	�������	�1���	�	������0����	�������	$��������2	������	�	���������������	1�

�2	����
����2	����	�����2	����	�.�+������������������������	�$����	�2	���������

�����������	�����	����	�	��	�
	�������	
�	�0��	���������������	��	�4��$����

��
�������	���	�@�����	����		�A1�0���	,�$��	1���������	�����	�������������0������

��������	�	�2����$	��.��

�

+����	�1����$��������	���$������?�	�������0���	��������	���0�
	2	���$	��������

��	��	��������	��0�����	��	�	�������0��	�
	�������	
�	4��	�
	��	?�������������

$�������������	��	���	���B	���2	���0���$	�����	��������0�
	2	���$	��.�

"��������$��	����	�������������	������	�������
������$���
	2	���$	���$�
	���



�

4����	
����
	+�
!�	����	�����
5!�

�������
�



�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�
 �

�

��
�����������	
���������	�����
	2	���$	���
�������	�������������	����	����

�	�������1���	�	��	2	���	�	����	$�������0��	
������������2	���
��������	���

�����	����$���������.�/�	�	�
	2	���$	����������������	�����	
���������	�$���0�

����
������	���������������	?���	
������	����������������0��	�6���	����	����$���

����
��$�1��	�
	�������	
�	�0��	����	�	���$���������	��	��0��	�������	��	
�

�����������������B	�������	���������	����$�����������	��������$�����	$�	�2	��

	,��	����	���	���	?������	���	�
	��������������	$�������
��$����	.��

�

�6
7��8�������
���������	���


�

7�����������������
��2	������	���������������	?������	����
������$	�����	,���


		�	�	
���2	���1��	6��2�����1����������	����������	��	
1���	�����	��	��0�

���	�K����A��
������������	��		����$	�A�����
������D�
	���������	�������������

�		
��$�����0�������$����	���$������������	��0�$	�������

���������������������D���
���$	�A�����������'����	����������

$	�(.�%����������������	�	�������������	��	��0����	�
	��

	?����������B	���.�+����1�����	��������	?����������

���	������������00	���	����$��������������	�������	��	����2	���

���2��	�	
�$�����������	����	�����	�
�2��������	��		��

���2��	�	
���$	����
��������$	�1���
�������	��������2	�

��	�	00	����0����	����	�����
�$������0��$���0������	
�	1�

������$�����������0����	���������
���0������	��E������		�

�	����������.�
	���
1��������	,����0���
	���	�
���
�


		�	�������2	������
�	$����$	���2���	��������1���	�	���	�	���������	�������

�����
��$������$	��
���$	���	��	�������		
�����	$	$�	���������������

���������	�
	��	?�������$��������$��������$���.�"����������
1�A)���	��	����0�

������������������A.�/���������$	����0����	�
	��	?����������B	���������������

����	,����0���2	������
�2���	��������1���$	�A����
�$	�A����$$����		
��0���

$��	��������	��	�����	����
�����	������0��$�2���	���������$����	�������	������

�	
�����������������	��2������	��	�����	��	?�����.�7	�
	�������������������2	��

$�����2	���$��	
����	�������$�������	�	���	��
��������	��������������	���
�

	00	���2	��������	��	���	����	��0�������6�	2	������	�����������6�	2	��	����$���

��	?������	����
����	���������������	��	�������	,��	����	���	$.�

�

������	��������	��0����������	��	
������	�6���	�����$�������
	�$��	
��������

�	���
������.�
�	��	$��
	
���	����0	�	��	�������������������0	$����$������	
�

������������?�	��0���	�
�00	�	�����	
�2�����>�������0����
���������
��	���
�������

��
���	�$�
	�������������	�0������	����������������	��0��������
�00	�	��	������	�

������0����	�
	�������������
���������.��

�

�������		��������
���������	
�0����	���������	���
	�$�������0��������

�	���
�����������	�6���	�����$�������
��	����	�����������	��������������

:����	�����	���	������	�2	��0���	�	$���	�$	����0���$	�.�%��������	���������

	$�	

	
����:����	�����������	�������
������	�����$	�A���	���
������1�������

������	������������������	�������������	�	?�����	�0����

�	��������$	�A��

�����	�������	�	������
����������'���
	2	��������������	�(.�=$���	�$	�����
�

��	�����������
��2	���������������������	�����	����	4���$	���		
�����������
�

�����������	�����.�

�

3�	?������	��
��2	���������������������2	���������2�
	
���	�����	,��0����	��

$���0	����������0���$	�0	����	���0��	�
	���	��������������	�
	�������������
�

����������		
�������	����������0.�%�	�	������
	���$	����������	,�$��	���0�

2���	��	�����������$	�.������		��
���
������	��0���	�����$��
	����0���$	��

��
�����
�	����������������	���������	�;
E�	,�������
	����	����	��		�� !!��

��
������D������	�����������
	0��	
������	����	�������������	���	?������	�1�

�"#�
$�������
	��
�	����
�
�!�

�	����
���



�

 -� 4����	
����
	+�
!�	����	�����
5!�

�������
���
�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�

�

��������2	�
�����;
����
�����������	$������	,����������
��	�0�����	�;
�

$���	�.��

�

%�	����	��0�$���	��������	�����	,���0��������������������������2��2	
�������	���

�0���$$�
�0�������1������
������	���$$�
�0���������0��	�
	�������	
�	.�

7	�
	�����������D����	�$�������	�����
���0�	
�����������B	��������$$	������


��2	���D�������	��	��00	��������	
�	��������$	����������������	�������1�

���	����������6����������	����	��0���	��	�����������	��.�"��8�������	�G	��������

�����	
����1����$��������	,���@
������	�
	�A������	��$	����	���0��������

������	
�������	�����
��0�B��.�<����"����F��������	�2	
1�0���	,�$��	1������

	����$�����
�������������	�
�������	���

�	�=��������	�9	�B������2	���0��	��	
�

�	�
	�������������
������	��1�����������������
���$$	���������������1�

��������������	$�����	�$���0��	��
�	$����
������1���
�	�����������

�����������	
��������������$��	����������
��	�����	������	��	�������.�%��������

���������	
������2�����	�����	����0�
	6�����������������0��$��
2��������
�

�����������	�
	�������	
�	�
���	$��������0��$���	��������$�2	$	����D���
�

0��$���	�0	$�������	�	�����D��������	�	���	���.�%����	����		
�����	�����	��0�

��	���������������������������	�	.�������������		�������0��	������@�	�
	��

�����	�A�����
�������	���	�$���2������0���

���$�������������	1���������������������	�

����
�����������	���	������	��0���	�

����������������������������	��A����		�����	�

����	
����.������������2���������0��	�
	��

������������������$��	����2���	����	����

��$$	������
	$��
�1�������$����	�

����������������6�	�$��	�
	��	?�������

��B	���2	�1������
������	0	�	��	��0���������

���������1��	?�	����0���������>	
���
�

��������	���������	�1���
���������	�������

��$	��$	��2���������
���������	��	���	�

��	�0��$���	�
����������	�:����.�/	�$���

�		
����
	2	���������	��	��D��	������

��$$��������	��	��D�0����	����
�������

��	�	�
	$��
�.��

�

������	����������	
��������	����B	�������0�

���������������������	������$��	�	1���
�����

0����	������������	����������.�
����������	��0��$���	����	�	����$���

�����	�����8����1���
���	��	���������
���������	�	�����������0���	�	1������
�

��	�����������	������������������0����	������	�$������	��	����	���0����������	����

��������	��������
����$	�A�����������2	��		�������.�8����A��	����$���

	,�������������		�������������$	����	��	,�������������������	����0�@����������

?�	������A�����	��������	���������0�����������
	$�����������������	��������������

��2	���.������	����	�����
1�$��������������
���	�
	��	?������������		��

����	2	
������	�����	,���0���������
	$������������1���
�0�������
��������	$���0�

��������������������
���������������	�	�2����$	���.�30���	�	�0	����	���	��$	�

���	�	2�������������������������	��	�1������	��������	�	���	�������
�����
����	�

����.�7	�
	����������1���
���	��	�
	�������������������2	��������������	�
	��

���������������������������1��		
����
	2	���������	��	������

�	�����	�	�

���	�����������	�������	��	�$���0�	����	$	���0������������	�
	��	?������.�

�


6
����	�
��
�	��
	����


�

������������������	�����
�00	�	�������	,����������0��	��	�������
���������������

�	�
��	������
���	�
	��	?������.������	��������
��
	$������������������		��

����$��������������������0����������������$	�A��������1���������	$���������	���



�

4����	
����
	+�
!�	����	�����
5!�

�������
�



�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�
 )

�

�������	�$	�������0���	������	���0�		
�$���00	�	
����
	$�������$�����$	���

0�����$	�����
�00	�	�������	,��.�"����	���$	���$	1����	���	����0���	�����	�

��2	�$�
	�0	���	����	�������
��
	$������.������	���	�"��	�������	
����������

�������	��������������$�2	$	����0������������	�
	��
	�	�
����
	$��������

����	�0����������$�2	$	���1��0�������0���	,�$��	1���	�	���������	����=�������
�

��	���

�	�=���.�3����	�	������$�����	�1��
	���0��������
�	������������0���

�����	��	$���������$�������������	��	.�8�������	�G	���������

	
���������

����	����	�	���	�	������������������$�2	$	�������	�����������	���1��	��		
�

����

�	������	������������������	���
�����	,������	��	�
	����������.�
��$�$�

�		��	$������	
��������	������	������������������	,����	0��	���
��0�	��

������	�
����
�����"0�����
		������0��	��	
���	�$	�������0����������	�
	�4�


������������	�
���	�0���������������������0	$�������������	�������0�		
�$�

�������	�.�/���	���$	�A���������	���	$���	
����	���2�����	1���	������
��	����0�

������������������
�
�0��������	��������	��		����$	�������������
���������	2	��.�

%�	�	���������2	��		��$�������
	�����$�������������	�
	$���������	���1�������

��2	��		��
	0��	
������	�
�2���2	��$�	����2	���0���	��	��$���	��	����$���.��

�

7	�
	������������������	,�������������	�	���	�	�����������������������������	�

�	��	�	
�������	���$����	?���	�0����	
���
���	���2	�������������
	����������

����		������������	����	�������1�������
	2	������	����	�0�����	�	,�	�������0�


	$������������	.��




�6
�+�
����	�
�
��
��������


�

������	�����A����	�	�����������������	
���	�����	��0���	����	��0��	���������
���	�

���	���0��	���������	�
	������
	2	���$	�������	�	����	���1���
���	������0�����	�

�0������0������������	�
	�.�
�	���$$	��	
�������	�
	���������������$������

����		
	
������������	�������
�	��A��$���	�.�9�����	�	��	��	��������������


������������	����2	������	
��	���������	�
	���0��������������2�����������	��

�����
���	�����������	�$��	����	�0���2���	����	�	�0����	����	��	����	�
��	
�

��������
	2	���$	���
�������	�.�7	�
	��	?�����������	�1���������������������
�

$������	������$	�A���	�06
	�	�$�������1���	���2�������
�	���������0��	�����

������	����������.�/�$	�A���	���
����2	����������2	����	�
���		���	2	�	���

��
	�$��	
.��

�

%�	�����	��0��	������������	��������������	,�����������$	�����	
������$	�

������������.�%�	������	���������������	$������������
��	�����	
��������	�

���	�����0��	��������������00	��

����	�0��������	1���������������

�������������������������������

��������������
����������1�$��	�

2���	����	��������	
1���
����

������������	��	�	��������

2���	����0��	��������2���	�����

	$������	���	������������0�

�	��������	,��	�����.��

�

�6
9�������	����


�

%�	��������	�1�����	,�����
�

��������	���0�������������������

$	
���	������	
�	������������	��	����	$�������������	,��.�7	�
	������	���1�0���

	,�$��	1���2	�������������	
�	�����������+���������	�������������	,�����������

�	����	��0���	���
�00	�	�������������������	�.�%�	�	��������	����2	���0��	��	
���	�


���$�����0���2�������	�����
�	$�	

	
���
�00	�	������
�������0������������
�



�

 �� 4����	
����
	+�
!�	����	�����
5!�

�������
���
�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�

�

�
2�����1�������0���������2	�����	
���$��	��	���������	����"��������	�

����	,��.�7	�
	�������������������2	��
��	��	
������	��0�����������������$����		
�

������	��	��	����������������0������������	����
���������	����2	���0��	��	
���	�

������	��0���	���������������������������������������������������������	1�����	���

����0������������	����
���������	����2	���0��	��	
���	���������������������

��	�������������������	,�.�"���������0���	���	��0���0	����	���0���������������������

��
���������������������������������	,���$�����	���	��	���������	2��������	����

@�����	
A��	�
	����������.��

�

����������������	��������0��	��	
������	���
	������������	�2����$	��1�������

�00	������	����
����
�?��������0��	�
	�������	
�	���	�����
��	.�����������

�����
	��������$��1�0���	,�$��	1�����	���	$���������	���	�0��$	������0���

�	�
	�������	
�	����
������4������		��
���
��	�������	
�������	�;:#��D�

���������	����������������	
�	���������������	?�������D������	��	��	
�0��$������

�������������	�	����	���.�/���	���	���0��$�����0���������������0��$���������

���
��	���7	�
	��#	2	���$	���3�
	,�'7#3(���
���

7	�
	��=$���	�$	����	����	�'7=�(�����

���2�
	
�����	0�������1���	�	���2	��		��
	2	���	
�

�����	���$	���$	�������	������������������	?������	��

����������������	�
	������
	��	��	
����������	�

������������1�	2	���������	���	?������	������	��	.�

"�����	����1���	����	��	����������������

���	��	����������4���	�	����������	$������
���	���

������$	�A��	$���	�$	���0�����������	����	$��

�0����������	?������	�1���������$���	��	�
	��0����	��

�����	��������	2	�����������������	2	�.��	������	1�

���������	�;:#�A��$	����	$	���0�����	�


�������������0���	����������0��	����1�������

���	$�������������	����������	?������	�1��	�
	�����

��$������2�����	.�+����
2����������������
����

�	�
	����������������	�	���
����	���������������1��������������0������0�������

�	����	��0����
���0��$������������	��	�������������������2������	1�������$��	�


�00���������0��	�����
����������	���������������������2	�.�
	���
��1���
�$��	�

����
��1������	����		
�����	���	������������	��������	����
�����	��������	�


��	��������0���������������������������������0��	��	�D���
��	��������$���D�

�	�����	������	�
	�������	
�	.��

�

3��������������
��������������������	�$	����	2	����	�������$�����������	��

��0��	�������������	��	�	��������
���	����
��������0��	�
	�������	
�	.�

"��	���������������	2	��$����	�	��	��������$���������������	,�����
	�������


	�	�����������������	��	���������	��	��	�����0������������0����	�.�

�����������������������	2	����	��0�	���	����$���	�����0�����	$���������������	�

���	�����
����2����������0��	�����	��0�����$����	���
������1���������

����
���	1�	$����$	��1���
���$	�A��	�����	$	������
��	������������	�����������

��2	�������������������	�0����	����������	�
	���	�������.�

�

@8�$$�����A������	�����������������������������	2	������������		���������������

0�����0����	�
	�������	
�	����
�����������	������
���	$�������.���������������

$	���
��0��������������	
�	����
������1�0���	,�$��	1���2	��		���	���
	
����

��	���������	�������	�E0��$���0��	�
	�������	
�	.�=�����	���F�0$����

��$$	��	
1����	2	�1��������	���������0���$$�������		
�������	$�������1�

	��	������������	�����	,���0���	����$��������	�	�$	���
�1�0��������������	��	2	��

�0���$$�����������$����0	����	���0���	?���������	�$�������	
���
��	���
��	
.�

��������������$	���
���������$$�����	���0�	��
�����������0�����$	�1���
��0�

��	����	���	����������������	1����������	�
	����	?������������	�
�00���������

��	����������	����������	2	�.��

�



�

4����	
����
	+�
!�	����	�����
5!�

�������
�



�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�
 �

�


�	��0�����������������D�����������2	��$	����������������1�	
����������

����������������
���$$������
	2	���$	�����������������D������	�$	����	2	�


������	���
��	��	�
	���	�������������1�����	��������$��������	
����1���	�

���	����������	�����������	1�0����������
��������	.�9����0��$�����
���0��$���

�����	��	����	���	
������������������������������$���������	�
	����
����	��

��	������	�.�
��	������������	�	�$����	?���	���������������	����������	�
	��

�����	���������2	�.�
����	��	��0��������	����������	$�$��������
	�������	����0�

�	�����>������
���$������	�0��$�����
���0��$��������	��	����	
�����	���
��	�

�	�
	���	�������.��

�

��

��

��	���������	������	
	

• 8��	0�������������0��������������0��	��	��������������������	,��������	���
��������0��������	�����	����0���������������	��
���	
C������0��$�
��������������
����	C���
�������	������$������	�	,�	��	
.�

�
• %�	�
�������	����
��������	���0�
	2	���$	������	������������

�����	��	��0����	�
	�������	
�	��	�	�������	����	�
	2	���$	���
���������	?���	���6����������������1�����	$	����������	���
�0��$������
����	��.�8���	����1�
	2	���$	�����B	���2	����	���������0��	
����������
����	���0���	����$���������.�

�
• =����$������	�������������
���	����������������0�$���	�����2	�

	,��	����	
���$	�0��$���0���	?������1�������
���������	�����
	��������
�0��	�
	��	?����������B	���.��

�
• 
���	��0��������	�$����	���0��	��	
������	�����������0��	������1�

���������������	����������	������������	��		���	���������	�
	�����
�

	2	���$	��.��

�
• 
���	��0��������	���	��������0��	��	
����������������������	�1�	��	�������

��	�	,�	����0�
	$���������������������������������	,�.�

�
• %�	��������	����
���������	���0����������������
���������������$	
���	�

������
�������	�
	�������	
�	�������
��	
1�����	����������������
�	�	�2	
.��	��6�	2	�����������������
���������������$����		
������������
���	�����������	�	���	�	��	����������	�0�������	���
�������	�
	��
�	�������.��

�



�

 *� 4����	
����
	+�
!�	����	�����
5!�

�������
���
�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�

�

, ���
���


+��������
���
���������
����
�������


"�����	������0���	�	�����
������	��	��0�������	�
	�������	
�	����B	���1���	�	�

������
	���	�
��������������
�$����������$��0���������	�
	���������������

����	2	.�#	���������	��	�����	��0���	��		
�����	�$�
	��4���	�	������		��

��$	������	������$������	�$�����	�
	��������
	$���
	����$	���1�0���

	,�$��	1�����������������	
��	�������	�������	�������	�
	�������	
�	������

@���	�2���	A.�7�2	���������	�	���	�$�������	���0��	�
	����������1���
���	�	���	�

���	��	
������
�2	��	�����	,��1��	��		
�����	���	����0�����������$	��	���	�

��������0���������������������������1���
���������������$	��	���	���������
	��

��
�����	�6�	�$������.�%����$���$	����������	
����������	������	�����2	���

�$���.�"�	����3$�$������	
���������@�		
��������	���$��	A.��

�

:	2	���	�	��1�����	���	�
������	�����������	����2	��	
��������	2	���	�	�2����	
�

������������0��$�������	$�������	��1���	�	���������	�
�����������	2	�����$����

��	�����2	��		��$�
	����������	�
	�������������������2	�.�H��	����	�"�����	�

�����	
�����������	�
	������������������������	
���$	�0	$����������	����

�$������$�����	���	���������
��������	����	���2	��		��	,���	
������	$.�


��������	�	���
	�����	
�	,�$��	���0������	�
	�����������0��$	�����������	�

��	
�����

�	�������	���0��	,����������"���1��������	,���������������������	����	�

2	���
�00�������������	����������	�.�H	��	��	�������	�$���
	�����	
�������������

�	�
	����������,0�$�:�2��������	����	
�������������	�
	������	�������������

���B	������	������	?���	
������������������	��	����0���	�����
�	�����	���	���

�����$	�.��

�

"���$�	���0���	$	��	$	��	
�������00	������������������	��	������	�
	��

��������1�����	�����������������	��0�������������0�����
.�%�	��������	��	�	���

��������	���2	
�����	��������	?���	���	��������	��������
���	��	���������1���
�

��������	��	���0��
	���0�����������������	�
	���������������	������.��

�

�6
7���	��	���
	+�
����
���
	+����
���
	+�
������
���
	+�
���
	�
��





:	������������	��	��������	��		����	������
��������	��	$������������������

�����	��	.�"������0��$��������
	2	���$	�������	�������������������������	��0�

��	���	����	����	��0��	������
	����	�?�������
�
��������������0���

��	����	��0�@���������A�����	���.�H	��	��	�����	��0���	�
�00������	��

�0�����	��������	��	���������������������	�������������	���0�

�$��	$	�������1���
�����	���H���	���0���	��		
�����	2���������

��	��		
�0������������������	��	���������������	
����$������

�	�
	��������������	��������	,	����	������	�����	,���0���$	�
�����

�������������.��

�

9�����	��	������������������	�	�����������������������������	,����
�

����	���	���������	�����
	���������0��������B�����	.�H��	����	�

��$$	��	
�������	��		
�����	���	�����������	���	���1���������

����	������B����@����	A�D������0�����	,����
���������$	�����.�


�$������1�����������������	��0���	��		
�0���$��	�����	������

�������������	�$	�������0��	�
	��0��1������	����
1�@30�����
��A��

�������	�	����A�	���������	���������
������
�A.�9��1�	,��	������

��	��	�������	��		���		
������	��	������������������	�������		
����

�����������$��	$	�������������	��	�1�����������������	
������������	�
	�������

@�	�����0���
	������������������������	����0��	A.�8���	���������������$���	��

����	������
	������
���������	���$$������	
��������
6���	�0��$��������.�"��

�$�����������	���2	
�����	�������������	����
�����	?�	����0����	�
	�����������

��$��	
����������������������
��������������	�����	���	�	��������0��$���	�

%&���	��
�	������	� �
� ������	��
����
	��
�
���������
�	���� ����

�	�'�
������

��		
����
�
	
��
��
��

�

�����

� �����



�

4����	
����
	+�
!�	����	�����
5!�

�������
�



�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�
 !

�

�����	
�	���
�����	������
	��������������
����	$���
���2	����	$���	���

���	����.��

�

�6
:������
��	+
�����	��
�
��
��������	����/
�������
��
�

���	�����	�


�

%�	������	��	��0�������������	�������	������������������������	$����1�

�������������������������������������2	���������0��$��������	�
�1���������

������������	�������	����
�;:��������������.������	���	�"��	������	��0���	�

�$�������	��0��	�
	�����������������	�����������0��������	���
���	�
�00������	��

�0�0��
���������������������	������0�������������	�$��
��	���0������

�������������.����������������������	���������������������	4��	��������$���

�����	
������������	�������	��0�����	����1����������������������0�	������2	����

����
1�������	2	����	���	����	$	��������
�2	�����1�
�00	�	��	���
�
���	��������

$���������������������	������
	������
���$$��$	�����������	.��

�


	���������	00	���2	�$	������$��������������������������	����	����������������

����	�
	��	?������������������00	�	
��������$����������	�����$�����������

�����	1���������������������	
�	
�����	�0�����������������	$�.�"������	���

H���	�������	
����1��	������������������������$	������$�������$���������������

�����	�������������	����	�
�$����������	�����0���������������������������	�����

��	$.�������	�#���	��	���

	
�

�������	6	,����������������������

��������	���0�	����������	�

	00	�����0��	����	�1���
���	�	�

������		
���������$��	�����	���

���	,������������������������

���	���2	����
���������	������

�	������	����
����2	�����	�
	��

��������������.�"��������������

$	������$�1�������������	���

0�����	�������������0���	�
����


��	��	
������$	�1������	����

����	����F3G�
���
��,0�$�

:�2��1�������$	��$	��'�����		
������	�	�������(��	�
����0����	��

���	�������>�����.�+���>�/�������	�2	
�����������������2	���	�	00	����0�

��$��������	���	���2	�����	��	�	������0��������	1�����	�����������	��������1�

�	����	�������	���$	��������������2	�������	��$	�	�
�������	$�	�2	����	�	���

	�����������@����
A��$��	$	����������������$	�����������
	�����
���.�

��

�������		��������
���������	��0����		
����	,����	�������0����������

�������������������
���	�.�%����$�������2��2	�����	6����	��
2��������������0���

��	��	0��$��0���������������$��
��	����	�	���	�	���$�	�������	�0����	�
	��

	?������.�3��$������������2��2	��	�����������
����������������	���
�

�����������������$���1���
�����������	��	����
�$��	�0����	
�	00�����������������

�������2�������	�������������������
�$�2	$	���.�/�	�	���2�������	���

����������������	��	��1���������������$����		
�����	���	�	
	
����$����$��	�


��	����������.��

�


6
(������	���
�����
���

�����
	


�

#	$��
��0���������>	
�2	��������0��	�
	����������1�������	
������������	�����1�

��������	
���$	����	��������	�������	
1�������$����		
���������	���������

�����0���	����
�������	�$��	.�F	���	�/���	�������	��0���	��		
�0���$��	�

����������
��������	��	��������	����������������	��0��	�
	����������1���
��0���	�

�	����������0����	���	��������������	��		����
�2�
�������
��	��		��������.�



�

��� 4����	
����
	+�
!�	����	�����
5!�

�������
���
�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�

�


	2	�����������	�	�$�
	�����	6����	���	�����	��������	��		����	��	���������
�

��	����������1���
�0��������	���������	�$��	����������0���	������������������������

���0������������0����	�.�H����
�����#������������	
�0���@$��	���
��������������

��������	�A1���
�$��	���������������	��	���0��������	.�

�

/	�$���������		
�����������	
�	�$��	���	����������������������	�
	��

��2��2	�����0����1���
�=�����	���F�0$��������	��	
�������	�
	�������	����		
�

���
	2	�����������������0�����$����	$	�������	����������0������2��
���	1�

	��	���������	�������������$�,	
�������.�"�	����3$�$������0�	
�������	�
	��

����������
��������	$�	�2	������	����0���������������$	��$	��������	,�������

���0����������0����.�#����	������	����
	�����	
����	��	���0��	����2	���

���0������������$	���
�1�����������	���	��0���	���	���
�������1�
	����	
����

���2��	�	����	$	��.�/���	���	�	�������$	���������������0������������

$	���
�������	������	�6���
����2	�������������	���	��������	�
���1�<����"����

F���������	
�������2��
�������0�����������$	�����	�2�����$������������	��

���

�	��	
1���
�����������
���	�2��	��������	���������
���	��������
��������	�

��������
�����
�00	�	����.��

�

�
�

�

�6
�����
���
�������	�


�

"����	���$	���$	1����������
	����������	
�	
��������	�	���������	6��>	60���6����

2	�������0��	�
	�������������
����������������		
������������	����
	2	����


	0�����������
�0��$	����������������	�0�����	�����	,������������������	������	.�

3�
		
1�$�
	����0����������$����		
�����	��$	�	2	��$��	�
�2	��	��������	�

����	���	,�	��	��	������
	������
��������������	������
�00	�	������	����
��	2	���

��������������	����������.�"�
�	��8�������A����	�	������������	
�0���
	2	�������

�����������0������	$6�������$	���
�����	����	��������2	
�	,�	��	��	����

�	���	A���	���������
��������2	�.�"���B���#�������	��	
�������
������������


�00	�	�������	,�����2��2	���	������$0������	������$����
�00	�	����
	���������

�	�
	����
�����$	������.�3���������		
�������������$������������������	����


	2	������
��
�����2������	���������	���2	��1����������
	������	�������	���

�����0��$���������	�����1���	������	�A�������	��	��0���$$��$	�����
�

�	���������������	���������.��

�



�

4����	
����
	+�
!�	����	�����
5!�

�������
�



�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�
� 

�

�6
;�
�����
��
+��
��
�����


�

����������	�?�	�������0������	�D���
����	���D��	�������$��	
����	��	���0�

����	������.�������0���	�	�
����������	
���������$�
	�������0��$	����	�

�	�������	,�	��	��	������	�����������	����0��$�������������	��	
�������

��
�2�
���������������	��	���0���	6	,���������0	�	,�	��	��	�.�
���	�������

�����
	
�	$������������	��		
�0����	0�	�����1�$����������	�����������	�������

	,�	��	��	1��	0�	��������������		�A����������������	������	�2����$	��1���
�

0�������������	�����	����0��	������.��

�

"�
�	��8������������	��0���	��		
����������0��$��	���	A��	2	��
���	,�	��	��	��

�0���2	
���������	�������1����@���0��	A���	���	��0��$��	0�	����������������
��6��6


���	,�	��	��	�����	��������$���������	$������	���������.�#����	������	����

���������	��0���	��	�������$�$	�����	��@�������$	��	�����������	���

��$	����������
	A1���������������	�	��������
��	������	���	
��������������		��

���
1��������������������������	
����������������2	��$	���������������	����0���	6

	,���������0	�	,�	��	��	.�

�

�6
���������
��	+���


�

%�	�
������������������	���	��	�������������	��	
�������	��	���0�����	�������

��
�
	������������0�$	���
����
�$	���
�����	��0����	�
	��������������
�00	�	���

����	,��.��	��������$��A����	�	��������
	�����	
����"�����D�	0�	�����D

<	�����������	���0���0�����������������	���������������������1����������2�
	��

����	�0�����
�2�
�����	0�	����������	������������
������	���
�������������6��
	�

�������.�;�	0���������������$����	��	0�	��������
�
������	���	1�0���	,�$��	1�


������		��������������������1���
�����������������������������������������	����

�	��	�	�����	��0������	�����0���	����������������	�	������	����������1���������

�������������0���$������0�������������
�	,�������.��

�

#����	�
	�����	
���@����
���	�A�	,	����	�����	���	���	�����	�����0��	�
	�����

	2	��
���	,�	��	��	.������������������
�����
	��������	
��?���	��	��	�	������

��	���$�����0����	�����	��	��2�����0�����	����	�
	�1���
�����	�
���������
	���	�

�?���	�������	����������	�������������0��������	����	������	����
��
�	������	���

�	�
	�.�
�	���$$	��	
��������$	���0�	��0��
������	,	����	��	����2	���	���1�

�	�������	�
������	��0���	��	��2������	������������	?���	
��0���	$1�����$	��

�0�	��0��
����$��	�
�00����������
	���0����	���$�������������	$����$	�.�+��������

�	�������������	����������������	0�����������������0�������	���$�����$���	
����

$��	��
	�����.��

�

�	���
���������	�����
���	��	,	����	������	���	
����	,����	���	���$��	,�����0�

�	�
	���	����������������������
������������	,��.�"��"�
�	��8��������

���	�2	
1���	�����������	��������	����	�	�����
���	����	��0�	������	����
���	�

��$	��$	��	���	�������	���0����	���	�������$�
�00	�	�������������	�������������

D�0���	,�$��	1�0���	���	���$	�������$	�����	,��.�"�
�	�������
	�����	
���

��$�����@�	�
	����0	6���	�A�����1���������2��2	���
	���0�������
�������������	�

���������
�	2	�������������������A�������2	�������������$	������	�������	
����

��	����	������������	�
	�	
��	�����D�������������$������������	������������

��������������������������0��������D���
���������������	,����	������	�
	���
	������

����	��������1������	���2	����	������	��0���0	���
������$	�������	�����������������

����������.�

�

"���B���#����00	�	
�@���2��	�	���������A��������	0����������	���������������

�����������	��������������������������	���0���	?��������������������1����	����

�	�
	���00	����	$���$	��
2�����	�.����2��	�	���������������	���	
�����	�
��0�

������	��	���������	������$����0�������������
����������
��00	�����	�������������



�

��� 4����	
����
	+�
!�	����	�����
5!�

�������
���
�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�

�

�0����������������	����	���2	��1���
���������������	���	�
��	����������	�

	,�	��	��	���0��	���������
���0������		�.�3��$���������	����	���	���0�$�����������

�����������	����������	��������������	�$��	��	�
	������
���	�1���
����

�����	$����	���	������	����	���	
�@�
2�����	�A.��

�

9����������%��B�����;���	���
�3���	������	��
	�����	
�$	���
�����	��0����	�������

��
������	���������������<�����"$	��������������	
����������������	�.�������

��2	�����	�	�������������	�@:	����������
��

�0���	�/���
4�;�����
����	�A�'9#�(����B	��1�

��$���������������������2	��������������������

�	���	�������	��������	�.�%�	����B	���

$	���
������
�����������������

�����������2	6"�����6�	�	�����'�"�(1
���

�����������������
������������	
�	����

�����0��$�����������	������	���	��������������

@���,��A.�%�	������������$�����0��������	���	�

����	������������������������	���	�1�

����	�2	
���
�2�
��������
�����	���2	��1�

�	��$	��	����������0�����������0���	���������2	�.�3$���������1���	����B	���

���������0�����	�0����������$$	
���	��	��������	�������	�����$��	�	�
1���
���	�

����
���B	���2	���0���������1�������1���
����������������0��$�������
��������$	�

��������	����������
��	����	������0��$$	
���	�����������	�$��������.��

�

3���	��
	�����	
������B	���
	2	���������
�������
������	��	���������������������

	
��������$�
��	�����
��	
�0���%G���
�#G#��������
	����	��	�����0���������

	
�������6���	
�$	���
�����	�.�%�	�	�$�
��	����	��������������2	6"�����6

�	�	������������������	���1��$���������	��������1���
��	���������������

"��	�����.�%�	����B	��A��������������0��$�������	
��������������0���	��������

��������������0����B	������
��		����������	�����������@%��0��$1����������������

�����1����������������
�1������������������2	�����������0��$LA�
�	��0������1����

�	�����>	��������������A��		
������	��$	����0	������������
��	����������

?����0�	
�������$��������	����	����	�����������	�����������	�����$���	�������	��

���������0��$���	������������������	�$���0���2	
��	�����	�1������������	������

����1�	
����������
���������.��

�

3�����������������������	������������	�	1����������
��������$���������������������

�0���	$�����������	�1�����������	����������0���	������	��	�����������	���	��

��������	$.������	$��	������	�	
������	�9#�����B	��������
	�
�00������	��


	��2	
�0��$���	�������������A����	��������������
�����$���������0�
�$������

��������0�2�	�1�0��$���	�	,	����	��0����	�����������	�������1���
�0��$���	�

�	��������	��		����
�2�
������
�����	���2	����	����
��	��		������������������
�

�	��	�	�������.�9�����	�	���	������	��	������������	��

�	��	
.������������

����	
�0����
	�����
��
2�����������������	�	���������	�����$������	�$�


	2	���$	����������������.��

�

%�	�	���	���$�������	���	��		����	�	���������	����
��		�6���	
��	�
	��

����������	��$$	�
	
����"�
�	��8�������.��		�6���	
��	����������0�����	�

	$������������0��$����0	��������>	
��	�
	��������������$������	,�����	��������

�	2	��.�"�	����3$�$����������	��0���	�	,�	��	��	��0����:7���	�������

����	����2	��������
����	�����������	����0�$������������������
�00	�	�������	��

�2	�����	��	���0�$		�����1��0�	����������������������	����	
��������	��

��
	�����
�$��	�
		������������������	�����	���
�������������.��		�6���	
�

�	��������00	���������������������	,����	���
�������	������	$����
����������	�

�
���"������������0��	
�����������	���	1�����������	
�����	�����������������	���	�0�����	�������	���0�
��	�9#�����B	��.�
�



�

4����	
����
	+�
!�	����	�����
5!�

�������
�



�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�
��

�

�����������	���
���	����	�6�$������	
������	�E�����		��	�������������
�������	�

���	������������$����	����������������	���
���	��	���������	�����.�

�

�6
�������
����
�	������
��
��
���
�������	�
���
������
��


�

=���	
����$�����0���	�
�������������$	���
����
������	��	���������	�����	���

�����0���0��������$��	����	�����������$	�A����
����	���������$�2	$	������
�

��	����������	����������������������	.�%���������
��	�
��	��	
���������������

$�2	$	����������	�����	����
����$�������������	�������$�2	$	������	�������

�	���
���	�����
���	���0�
	2	���$	����������������.�%����0���������
�

��$	������	
�	�����	��$������	�	��������	
��2	����	������
	��
	1����������

�	�
	��$������	�$��������0��$	
�
	2	���$	���������������������	��	�	2����

���	��0��������	.��������	�$�������������	$������	
���	��		
�0����	�
	������	�

��	����������	
����������	�����
1������	�	,�	��	��0���$	�A�������������������

��2�������	����������������
��	��	�������	
�	���
�������	���	��0������
���0�

�������������������	��.�"������	���	��		������������
	2	���$	�����������������

��
������������������$�2	$	��������������	���@����A���	�0��$	�����������
	��

����������0������	.�"��������	��������$$	��	
1��	���������00��
����	���	�E���

�����	��4�@/	��		
�����	���		
�.�/	��		
�����.A��

�

:	�����������
��������������������������������������
���	�������	����	�	���	�

���������
	����
������
	������2��$1���������		��
���
��	$������	
1�����	������

�	�	���	��������������������������	�����������������
���	
����	����������������.�

�����	��������	��		�������������	�	����1���	������
��������	�������������
��	�

�	���	�
	�������	
�	����
������������	�
�00	�	��������	
�	����
�������

����	��	����������	
������	�������	.�
	2	����
���������������	
�0���$��	�

���	�����������	�	��$�����������	�0��	�.��

�

+6
���������
����
	<
��
����	�	���
���

������
�	���


�

/���	���	�	������	�	�������		$	��������	��		
1���������	��1�����	�����������	�

�����	������$	���0���������1����������	
���	�����	��0������	�����������������	�

�����$	�������������	.������		�����	
������	������������$	���
�����

����	��	����	��	����������0��$���2	���	����	�	���	����0	�����
�	�������	�

$	
��$����������	�$��$������0�
�00	�	���0��$���0��	�
	����������.�"�	����

3$�$������	
����������	2���������1�����������	��	,���1���	�����������$��	�	
�

�$$	
���	����0�	����	���������1��������������������������6�	�$�	00	���������	�

���	��	
.��

�

<����"����F��������������	
�0�����$����$��	�����	��	
�	00�������
���$	��1�

��������	���
�
���	$����	���	�$��	���
�����$	���
���������2	��		��	00	���2	����


������������	��������?������������	���	�1���
���������2	��������	�����	,���	
�

�������
	���	�$��	�����������
�������>	
�$	���
�.�
���	��0�����������������	��

�		
�����	��������
	����
�	��	����	����	���	���2	���
�������������������������

����������	�����	��0��������	��	��0�����
.��

�



�

�-� 4����	
����
	+�
!�	����	�����
5!�

�������
���
�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�

�

�

� ���
��	
��
�
���	�

���
	���������	
�

• ���	����������	?���	
������������	��	������������������	������
�$��	$	������������	��	����
����	����������������	���.�

�
• 
����	��	����	��		
	
�����	����
�����	?�	����0���?�������
�
�����

�	�
	�����������.�

�
• 
	����������	�����������������$	������$��0����	�
	��	?����������������

���������������	?���	��
	����	
�����������0�������	�	���	����	������
���	����������	,����������������������$	������$�.�

�
• %�	����������������	��0��	�
	������������		
������	�$��	�	,���������

�������	
�	
1���
������	��	��
	2	���	
�0���	00	���2	������
�������	�
���	������0�����������������������	����0��	.�

�
• ��
	����0��	�
	������������		
�����	��$	�	2	��$��	�
�2	��	�����
����

����������	��������	�
�00	�	������	����
��	2	�����������������	����
������.��

�
• %��������$	���
���		
����0�����$��	��������	����������	���0	�

	,�	��	��	���0����������������
������	��	��
	?���	�����	��0�����
����	����0��	0�	�����.�

�
• "������	����
�����������������	��		���������������������	�
	��	?�������

�������
	2	���$	�������������������
���$	�A��$�2	$	������
����	��
�������$�2	$	�����		
�����	�$��	�����2	���������1�
	2	���	
���
�
$�������	
.��

�
• ���	������	���������	�������		
	
��	��		�������������	�	�������
����

�������	1�����	�	���	��	����������������������
��	���	�
	��
�����	
�	.��

�
• ���$������$	���
���		
�����	�$��	�����2	���	2�����	
1�������	
���
�


���	$����	
.�

�



�

4����	
����
	+�
!�	����	�����
5!�

�������
�



�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�
�)

�

. !����
�	����
���
��
�������	����


������
�	�
�
��
	+�
������
	�������
�����
���


�

• 8���	����������	�����	�	�������
���������������
��	������������$���	
1�

������������	���������	��0���	�
�2	�������0�0��$����
�$	���
��0������������

�����	����
��	
.��

�

• 8�	��	���������	
�	$	�������		
	
��0���	��$�������	��0�����	����

@�����	
A1�����	,������	
��	�
	����������.��

�

• ���	�����	��0�����	��		
	
�0����	0�	�����������
��
����������0��	�
	��

�����������������
�00	�	�������	,��1������
�����	������1���������
��������

$		���������	��0����	����������������	���	�
����1���
����	����	�


�00	�	�����������������
�������������	��.��

�

• ���$������$	���
���		
�����	�$��	�����2	���	2�����	
1�������	
���
�


���	$����	
.�

�

�

$�����	���
���
���������
	�
����
��	�
������
	�������
���
�����


'����(�%
������#��$��� ��

�

• "�������	�	�����������	������		
	
������	�
�00	�	��������
��0��$����
�

����	���0��	�
	����������������������	1�������������	�����	�1�0�	���

�����	
�	��0�����	,������	
��	�
	����������.��

�

• %�	����	�����	
�����������	������0��	���������������������������	
�����

�		
��0����	��	����������.�=00�������	��		
	
���������0������	����0���

�	�
	����
�
	2	���$	����������
�00	�	����������	�����������	$�����

�	2�	���	���	
�������������������	,��.��

�

• F���	������������0������������	�
	����	�����	
��������	,����		
��

0����	�����	�����1�0����������	���	�	���
���������	����������F3GE"3#
�

���2���	��	�����������$	����	�����������	���
���	0���0������������

�	�
	�������	
�	������
�00	�	���	�2����$	���.��

�

• "��	����������		
	
��������������������������	��	����
�����������

��������	���00	����	�
	���	����������
���$�����	�	00	���2	�	����0��	�
	��

�����	���������2	�1�����	��������	��	������	��0��������	���	��$����00	��

���
�00	�	�������	,��.��

�

• %�	��	�	��������0������������	
�	������
��	�	�������	
���
��������	
�

������	�����	�1�0����������	�������������������	6�����,�����	�
��0�

���������1����������:7������������	�����	����2�
	
�����	���
���$	����

�	0�	��������
���$$������	���	���	,�	��	��	.�

�

�
-�"��������������������������	������	�
	
���
�
	����	
�������
��	��������	��
���$	������

���$	���1�	���	��
��������	�����������������	?�	����.�/�������$����	���	�	
	
����
������������
�
��������1���
���$	��$	�������	��	��������0���������������.��
�



�

��� 4����	
����
	+�
!�	����	�����
5!�

�������
���
�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�

�

��
����������� 
���
������
���������%������

�

"��	����������		
	
����������	��������	����
���������	���0����������������
�

��������������$	
���	�������
�������	�
	�������	
�	�������
��	
1�����	������

�����������	�	�2	
.��

�

�	��6�	2	�����������������
����������������		
���������������	�����������	�	���	�

	��	����������	�0�������	���
�������	�
	���	������������	�����1������$	�

����	,��1����
�������������	�����	��0���
	2	���$	�����
�0�����������	���
������.��

�


	����������	�����������������$	������$��0����	�
	��	?����������������

���������������	?���	��
	����	
�����������0�������	�	���	����	���������	����������

	,����������������������$	������$�.�

�

���	����������	?���	
������������	��	������������������	�������$��	$	��������

����	��	����
����	����������������	�������������������������������.�

�

����
�����
�������
)��
�����

�

"������	����
�����������������	��		���������������������	�
	��	?��������������


	2	���$	�������������������
���$	�A��$�2	$	������
����	���������

$�2	$	�����		
�����	�$��	�����2	���������1�
	2	���	
���
�$�������	
����

��	�	���	���	����	����	�	���	�������$	��������0��	�
	��	?���������	�

�������������	,����	
���
����������	
.�

�

%�	�	�������		
��������
������	��������	��		����	���1��	�	�������
��������	����

���$������0��	����0��	�$		����������������
	��1������	��	����
���������	��0���

�����������2	�������������	������1���
�������	���������	��		���	�	�������
�

������������	������	�
	2	���	
.�%�	�	���������		
������$	����	��	��$��	�

�0�	�1����������������	����	���	������	�0��	�������	�����	�0����	�	���������	�

���������������������
��2	������	.��

�

�	��	�����
���
	�����
������
	�������
��������


�������������� � ������#��$��� ��

�
• %�	�����	�������	��		���	�
	�������	
�	���
����������	��$�����������

�		
������	��	6����	
������	�0��	��0���$�	��������	���	�������.��

�
• %�	��	������������	��		��@�	�
	�A���
�@0	$����$A��		
������	����	��	
1�

���
�	����	����������������	��0��	�
	����������.�
����	��	��0���	00	���2	���
���
�������	����	������0������	�
	��������������������������	����0��	�
�		
�����	�0����	��
	2	���	
.�

�
• 7	�
	���
2����	���		
�����	$��������	��0���
��	������2	������	�������

����������������0������������0����	�����������$	
���	
������������	1�
��������
�	�������������	�������	�
	�.��

�
• %	����������������	������	�
	�������	
�	�
���	$����������2	��	2	�	�

��$�����������
������
��	��2��
	
.�
����	��	����	��		
	
�����	����
����
�	?�	����0���?�������
�
������	�
	�����������.�

�



�

4����	
����
	+�
!�	����	�����
5!�

�������
�



�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�
��

�

*��
)���
�� ����������+����(�)������
�����		��	����

�
• 7	�
	������������	���������������������	������������	��0���������������

��
�������������1���
����
�00	�	����	2	��.�"������	�$�
	���0��	�
	�����������
�����������	2	������	����������	�	��	2	�����
����	�1���
�$�
	����0�
����������		
�����	$����0�	,���	.�

�
• �	2��������0���������
�$	���
�������
���2	���������������������

	�2����$	����0���������	$	�����������	��	��������	�$��������������	.��

�
• %��������$	���
���		
����0�����$��	��������	����������	���0	�	,�	��	��	��

�0����������������
������	��	��
	?���	�����	��0���������	����0��	0�	�����.�

�
• %���	��������������	�0�	�
��0��	�
	�������	
�	����
���������
�

��$$�����������		
�����	����	0������$��	�����	��0�����������$	�����
��$	�0�����
1���
�����

�	�����	����	��
���$������������$�	����	$.��

�

�



�



�

�*� 4����	
����
	+�
!�	����	�����
5!�

�������
���
�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�

�

�

�



�

4����	
����
	+�
!�	����	�����
5!�

�������
�



�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�
�!

�

�����
�/
(�������
�
������


����������	��
����	���	�
������	��	�����
	���	�����������	�	

���	������	���	
�������	��	�����
	���������	
�

�������>���1�������%��������3�������	�'�3%(1�"$��	�
�$�

���� -6 �1������
�

�

(�������
�
���

%�������������������	��	�
	�������������
���
	�����
��������	���
�
�	����������������	��	00��������0�����
��	�
	��	?�����������������	�����1�
$�������	�
	��$������	�$���1���
������	�0����	.�
�
 �����!	 ��	"#	

�




9������





 �4���6�  4��� �	�����������

  4���6� �4��� • /	���$	�

• ��B	���2	����
�"�	�
��

• 3����
�������

 �4���6� 4��� <�����




�+���/
$�����=��6
���������


7	�
	����������������		��������$	����������������������	�
	������	������
1�

��$	�����
�����	1�0�����
������	��	�
	����
�
	2	���$	�����	�
�.�3���������1�

������������	�
������	�$�����	������	���
���	�
	�����������������
�

������$	�����>�������0���	���	�
�.�%������	$	������	,����	���	��	�������

�	��		���	�
	�������������
�0	$������	����	$�����	���	?���	
�0���	��	�
	�����

������
	����
��������	.���




 4���6��4��� ��	�	�����������
���	�����#���������


�4���6��4��� 9�	���

�4���6�-4��� 
$����7�����#�����������

-4���6�)4��� ��	�����#����������

�4���6�!4��� �00������#���	��'8�0M��	���������
�	�	��B�1��3%(�

�
�
�

�����
����	������
�		

/	�����������������	�0���������0�����	���0����������������4��
�

�

� � �

�



�����
�


��� 4����	
����
	+�
!�	����	�����
5!�

�������
���
�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�

�

�

$
�����!	 ��	"%	

�



�+���/
$�����
	�������
��
��	��+���

�

3���������������	��	1��	�
	��������������������������
	
��	����������	�2	�����1�

�����������������������	�����.�3�������	��		�������	��0�$������������	�����

�00	�����
�
	2	����������1�������
	����
������	
�	.�������	�����>	���������	��

����	��	����
����	�2	���������	��	?���	
�D���������������1�	��	���������������1�

�����	C��	�
	��������
���������������C��	�����	������������������
����
	���	��D�

������0��$���������.�%������	$	�	,����	���	�
	����������������$�������$��0���	�

�����	��	��0��	
��������	�	����	������	��	����
����	�2	������.�





!4���6� �4��� ��	�	�����������
���	�����#���������


 �4���6�  4��� 9�	���

  4���6� �4��� 
$����7�����#�����������

 �4���6� �4��� ��	�����#����������

 �4���6� 4��� <�����




�+���/
$�����
	�������
���
����
�	��


�

%�	�	������
	���	�
��	����������������	�
	�������	�����
��
2����	����2	�


�00	�	����	���	���2	�1���������	����
�$���2������.�%������1����	2	�1�����

���������	
1��0�	���������	�����	���0���$�����������0	$����������
�����.�%�	�	����

�����	��	0�	�������0��	�
	�������	�������	�
	�	
���
�2�
�������	��������������

������������������1��������������
�������������������	,�������
	��2	���	���

��2	�����
��0��$��	�
	����	?����.�%������	$	�	,����	���	�
	�������	��������


�2	��	��������0��	���������1�
	2	���$	������0	��������1��
2����	����
E���

0	$�������������	
����
�00	�	����	�
	�	
1�����������
��	$����������	,����������2	�

���	������������	���������������	���2	�����������	���������
�������
�������.�




 4���6��4��� ��	�	�����������
���	�����#���������


�4���6��4��� 9�	���

�4���6�-4��� 
$����7�����#�����������

-4���6�)4��� ��	�����#����������

�4���6��4��� 9����������0�"$��	�
�$�'$		���������	�����	����0��$	
(�

�4���6�� 3�0��$���#���	��'$		����	�	���������������������(


'N		
�B��-6*1�%	�.����6-���)) (�

�



�����
�


4����	
����
	+�
!�	����	�����
5!�

�������
�



�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�
� 

�

&��������!	 ��	"'	

�



�+���/
;�	���
������
	�





%������	$	�	,����	����	��$�����������0����	�
	�������������2	���	�	����	��

��	������������$	�A���	�
	��������
����������
�������0���$�����	����	$���������
����	��	,�	��	��	
�������	�
	�������������	���	�	������
	2	���$	���
����������	�����
��	�
	���
2����	���������	�������	�	���
	2	���$	���.�
�

!4���6� �4��� ��	�	�����������
���	�����#���������


 �4���6�  4��� 9�	���

  4���6� �4��� 
$����7�����#�����������

 �4���6� �4��� ��	�����#������������
�8�������

 �4���6� 4��� <�����

�
�



�+���/
!����
�	����
���
��	
+
����������	
�����	��
�





%�	���$��0�������������	������������������	���	������$	���0���	����0	�	��	�0���
#�����
	2	���$	������������	���
�$��	��	��$$	�
������.�
�

 4���6��4��� ��	�����#���������


�4���6��4��� 9�	���

�4���6�-4��� 8����������

�



�����
�


��� 4����	
����
	+�
!�	����	�����
5!�

�������
���
�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�

�

�

�
�
�
�
�
�
�
�



�

4����	
����
	+�
!�	����	�����
5!�

�������
�



�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�
��

�

�����
1/
���	�
����	
2��	


����������	��
����	���	�
������	��	�����
	���	�����������	�	

���	������	���	
�������	��	�����
	���������	
�

�������>���1�������%��������3�������	�'�3%(1�"$��	�
�$�

���� -6 �1������
�

�
2���
����
>����


8�%#6"�
=$���4�����������O���
�.�����
%	�4�&!��6�6-��� !��
�
?����+���
�+�����

���	�	�	�;��2	������
=$���4�B������	O��.$��.��.��1�B������	O���$���.��$�
%	�4�&�)�6- 6)� -*-�
�
@�������	�
�����

9�������8�������
=$���4������	���	."��	�O��������������.���.	��
%	�4�&��6�6���6 � ��
�
@����8?���
1�����
$��A���A


�3%�
=$���4�$.B.����	�.���>��	>O���.���
%	�4�&� 6��6)�*6*)!!�
�
(����
(��	����B�


#+3#�
=$���4��6�������	B�O
0�
.��2.���
%	�4�&--6��6���6 ��-�
�
����������
(+����	


3;=#�
=$���4�=$$���	��	.8���2	�O��	
.����	.���
%	�4�&- 6��6!��)!���
�

@��B�
(�
+���


#73
�
=$���4�$��B�.�������O$����>�.���
%	�4�&� 6��6�-*6�� *�
�
������
(�������


3#
�
=$���4��.��������O�
�.��.����
%	�4�&--6 ����*�� -��
�
5�	����
���������


�3%�
=$���4��.
���	��	�O���.���
%	�4�&� 6��6)�*6*-�!�
�



�����
1


�-� 4����	
����
	+�
!�	����	�����
5!�

�������
���
�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�

�

��+�B�	
���


8F
H�
=$���4�����B��
��O���B.����
%	�4�&! 6  6��)���- �
�
?��+��+���
������	�



"F"K�7�
=$���4�B����
����O���������
��.�����
%	�4�&! 6)��6�� ��-��
�
�������	+
>������

7	��	�	��"������
=$���4�	�����	��O�	��		�������.�	���
%	�4�&��6))��)-�*��
�
����+�
!���

8����������
=$���4���	���O
����.���
%	�4�&�� 6*��6� � �
�
@������
?�����


8��#"3#�
=$���4�����	��.H���	�O���
��
.���
%	�4�&� 6��6� �6�-)��
�
�������
5�������


�3%�
=$���4�	.��$$����O���.���
%	�4�&� 6��6)�*6*����
�
������+
5����	�


���	�	�	�;��2	������
=$���4����	��	O�0���������	.��.����
%	�4�&�)�6- 6)� �*��
�
5�����
5+��

"�;�
=$���4�������.�����O���.	
��
%	�4�&!�6� 6-*�-*  �
�

?����		�
5����	�����


:�2���
=$���4�B	��	��	.������	�$��O�,0�$��2��.���
%	�4�&� 6��6�-�6 �!��
�
�+����
@���


8����������
=$���4����$�$O��0����.��$�
%	�4�&��6  6*�����!�
�
5���	�
@������


8����������
=$���4�$�����
.���	O�$���.��$�
%	�4�&! 6�-��6��!��*�
�



�����
1


4����	
����
	+�
!�	����	�����
5!�

�������
�



�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�
�)

�

@���B��
@���B


F3G�
�
=$���4�$.$���BO��2��.��1��
%	�4�&� 6��6���6))���
�
@��	�����
@��+��+�����


�3%�
=$���4�$.$�������
���O���.���
%	�4�&� 6��6)*�6*�� �
�
@������	
7������+���

8��#"3#�
=$���4�������	�.:�	��	�����O���
��
.����
%	�4�&� 6��6� ��6����
�
������
������	���

:�G39�
=$���4�#	���	.���$	���	�O�,0�$��2��.���
%	�4�&� 6��6�-�6 �)-�
�
4�	+
�������


;��2	�������0�<		
��
=$���4��.�	�����O�		
�.��.����
%	�4�&--6  �6�-�6-*� �
�
�������
������


"�������
�
=$���4�
������.�	�	��O��������
.����
%	�4�&!-6  6�)��) -�
�
������
����	����


8����������
=$���4�
����	�����	���O�	�
	�6�������.���
%	�4�&� 6��6�)-)) *�
�
�����
�������

8����������
����$��O��0����.��$�
%	�4�&��6  6�-*6��6*��
�
!�����
4�����

����
������	�	��	�PP3�����>��	�
=$���4������	�O�$���.��$C������O��		
�.��$.���
%	�4�&)-6  6-�*���!�-�
�
;������
4�����


3;=#�
=$���4�+	��	�	.�	����O��	
.����	.���
%	�4�&- 6��6!��)!�!�
�
?���	
4��������


388��
=$���4�H��	�.��
	�����O����.����
%	�4�&� 6��6**� )!��
�



�����
1


��� 4����	
����
	+�
!�	����	�����
5!�

�������
���
�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�

�

����
������+


8����������
=$���4��$��Q�
��Q�������O�����.��$�
%	�4�&!��6�6-��� !��
�
1B���
���	���


:���
�
=$���4��B���.�����	�O����
.���
%	�4�&-�6��6�-6�����
�
5�	+����
�	���	

;%=��
=$���4������
�O��	�.	
��
%	�4�& 6! )6�-��!�)�
�
@����
�	�		

����������	��
=$���4���0�O$�����������������.��$�
�
@���	
�B�������

;��2	�������0�9	��	��
=$���4�$����.%B�$����
O���.���.���
%	�4�&-�6))6)*6-*6���
�
�����
���B����
C����

=�
��"$	�����<������
=$���4���������B������O�����.	��
%	�4�&)� 6��*� -!E E��
�
!����
D��
���
���


#73
�
=$���4�3�	�	.2��
	���O$����>�.����
%	�4�&� 6��6�-*�-*��
�
(+���	���
D���
+���


3;=#�
=$���4�8�������	.G	�������O��	
.����	.����
%	�4�&- 6��6!��6)!6-*�
�
>�		��
:��	���


/;��
=$���4��	���	.����	��O���.���
%	�4�&� 6��6-!)6����
�
���
:+�	�+���

;��2	�������0�
���	,�
=$���4������	�	�
)�O����	�����
.��$1��.����	�	�
O����	,.��.���
%	�4�&--6 ���6*����*�
�
;���A
:���

=$���4�0����O�����	���	���������.���
�



�

4����	
����
	+�
!�	����	�����
5!�

�������
�



�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�
��

�

�����
(/
���	�
����	
1���


����������	��
����	���	�
������	��	�����
	���	�����������	�	

���	������	���	
�������	��	�����
	���������	
�

�������>���1�������%��������3�������	�'�3%(1�"$��	�
�$�

���� -6 �1������
�

�






��+�B�	
���


"���B���#��������	�#��	������0�8	���	�0���F	�������
�
������H�����	1����������

�	�	�������
��
2���������������������3�
��.�F	������		����������	�$������������

�����;:+�"�3�
��1�
	2	��������	�
	����
�G"/�������������������$�0�����	�

�	������	����.�"���B������0���
	��$	$�	���0�����������	����$	����
��	�
	��

	?�����������	
��"
G"/.�F	���������8��������"������������0	������0���	�
�������0�

�������F	�������
�8�$$�������	
����	������	�;��2	�������0�/���������1�


	����	1�;
".��

�

����
����
������+


"$���
�������������	,�	��	��	
�����������	�6�	�	����	���0��	�
	�1����������
�

�����������	0��$����H��
�����
���	�"��������
.�
�	�����0����	
������2	�����	1�

�������	?���������	�1�	����$�����
������������������������������	��	����1���
�����

�		��������������	����������������1��	���������
����	������������������������0���

�	��������		�
	��
	�.�"$�����	������	������	�	���E����2���	�1�����������������

��
��	�	����	�1���	�����������������
�������$$������	�
	����������1����������

��$	��$�����	��	�1��������������������������0���$	�1�8=#"/��	������������1�

��
�	�	���������	�2�����.�

�

������
(�������


"�
�	��8��������������	�	�����0	����������	�3�������	��0�#	2	���$	���
��
�	�1�

��
�
��	������0���	�#+3#60��
	
��	�	�����������$$	�8��������$�����������0�

/�$	�A��=$���	�$	��.�F	������������
	��	�������������	�	�������
���������

����	�
	���
	�����	����
��	�����������1�$	����
�$����������	�1���
��	�
	����
�

��������������
	2	���$	��.�

�



�����
(


�*� 4����	
����
	+�
!�	����	�����
5!�

�������
���
�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�

�

���
:+�	�+���


"���/���	�	�
�������0	������0�"�����������������	�;��2	�������0�
���	,1���	�	�

0���$�����	������	�����������	�	����	
���
������������	�
	����
�


	2	���$	�������	�.�"����������������0���
��������
	���	�����0	$������

	����	$	��������
	2	���$	�����
������	���������	�
	�1���	�������
�����
	�

	����	$	�������������������
����	����������0	$��������������.�9���
�������

�	�	����������������������0��$��������
������	��������������������
��	�
	��

�	�����������:����	���7����1���	����������	��	,�	���2	������	����$��������	�

��
�����������	�
	���	�����������������"0�������
�����	�
	�1���2	������
�

$����	����$���������.��

�

����+�
!���


"�	����3$�$���������	
�	,�	���2	�������	�	����1��
2�����1������������
�

	
���������������	�����
�	,�	�
���$	�R����$������������
	�������$���1�

�	��������
��	������������1������$�����������	�	�����1���
1����
	$���������
�

����������	�
	2	���$	��.�
�	�������	�����	�������/�$	��<�2����;�
	�������$�

<����'/<;�<(���
�9"�9"9�0���/�$	�R��F�$���������.�%�	���6�����������0���	�

0�����7	�
	��3�������	����"0����1�"�	�������������7	�
	���������"
2��������;���	
�

:�������3�������	�0���=����$���#	2	���$	�����
���������1�#�������
���	�F	�
1�

#	����$	����0�8�����	1�7	�
	����
�F�$�������������;:+�".��

�

�

1B���
���	���


9B����
����	���	�	����������	
��������������	��	������	�
	���
2��	�����:���
.�

��	2������1���	�������	�=,	����2	�#��	������0�+���$�0���/�$	����
�

#	2	���$	������:�����1����	��	�������������	������������$	�A������	�.�9B����

����������		������������������������	,�	�������	�
	��	?������������	�=����	���

8�$$������.�
�	����
��������	�������	�
	����
�
	2	���$	���D���$���

�	����������
���������	
����	
��������������	���
�$����	$	��.��

�

(����
(��	����B�


8���	�8������	B�������
������#	2	���$	���"
2��	�����#+3#1�������������	�
	��

�����������	�.�
�	��������	�����
	2	��������	�
	�����������0���#+3#����001���������

�0�#+3#A����$$��$	���������	����	���������������	�
	�.�9	0��	�B�������#+3#1�

8���	�����	
�0���"$�	����3��	���������1���������������	�	����������$����������

����	�����
�����"���1���
�0���;:#�1�
	����������
�$��������F3GE"3#
�

�������������
����������$$	�������	�"��������0����	����.��

�

(+���	���
D���
+���


8�������	�G	�������1���#���������6	����$���0�
	2	���$	��1�������	���	����
�

�	�	����	������	�
	����
�
	2	���$	�������	��0��������$��	���	��0����������

�������������$�2	$	������
��	�
	���	�������.�
�	����������1����	��	�������

+	��	�	��	����1���	�7	�
	����
�#	2	���$	������	��0�3;=#1����������
�����

�����������
����������������2���	������	�
	����
�
	2	���$	�����
��������	����	�

3;=#��	�
	�����0	�	��	�.��

�

������+
5����	�


#	���������	��	������
	�����<	����	��������	�	�	�;��2	���������;���
�������	�


	����$	����0�/�$	����
�7	�
	��
��
�	�.�
�	�����������
	������	�	�����

"�������	�������	�	�	�3�������	��0�
�������	�	����.�#	������������	
�������������

��
���������	
��������	���0��	�
	�������	���������	�����1��	�
	����
�


	2	���$	�����
��	�
	�����������0���2���	
���
�	��	��0����2	������
	��
	�.�


�	��������	���������
�������������������	�	��������B	���0����$���2������	�

?��������0���������
�����	��	
�����������;���
�.�

�

�

�



�����
(


4����	
����
	+�
!�	����	�����
5!�

�������
�



�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�
�!

�

������
������	���




���	� !*��#	���	����$	���	�������		�����	�
	������2������������,0�$�:�2��.�

+��$� !!�1���	������		�������������������	�
����	���"0������9��	��1������

������$$	��00��	��0���
�����"0�������
���	��0���N�$����	.�F	��$����0�����

��	�����	��	�
	�1��	�
	��$������	�$���1��	�
	�����	
�2���	��	1�F3GE"3#
�

0��$����	�
	���	���	���2	1�0	$��	E0	$�������	�
	�����.���	2������1�#	���	�

����	
����9���2��������83�8"�����	�
	���00��	��0������������	�
	��

$������	�$�������������	�������������.�

�

������
����	����


#����	������	�������������	����������0����������1������	�1��	���������������
�

���������������	�
	�1��
	�����1�2���	������0�������
�
	2	���$	�������	�.�
�	�����

�)��	�����0�	,�	��	��	�����������������1�����	��6���	��	
������������
��	������.�

#����	�������������
����	
������1����2	�������	����	����
��	���
�����������

�	���	������������	���
����	�����	.���	2������1���	�������	�
��	������0���	�

7	�
	����
�#	2	���$	���%��������
	�������0���	�/�$	����
�"�����$��8	���	�

���<	�
	��;��2	��������
���0���
����$	$�	����
�
��	������0���	�7	�
	����
�

#	2	���$	���%��������8	���	����F����	$.�#����	����
������"����
����6���
�

������6<����������.�

�

�������	+
>������


=�����	���F�0$���������8���
��������0���	�0���������	��	������@7	��	�	��

"�����A1���
�������	�$�����������	���0���	����0	�	��	�����	�
	�����������

'@7	��	�	��
M2	����	$	��4�?�	���	�B	�,���������0��$�����IA(����9��
	��,����

+	������������'����$$�����0���	����0	�	��	��	��������	������
	
������	��3%�

�������������	2��������7	�
	��%�������(.�
�	�����������	
�
	2	���$	���

	����$���������
�2	��	�	,�	��	��	�����"0�������
���	������	���	����1���$	���

����������	��'�8����
��	�
	�(1�	2�������1����2	�������	����	����
��	�	����	�.�

�

����������
(+����	


=$$���	��	�8���2	��������0�����	�7	�
	����
�#	2	���$	������	��0�3;=#1�

���������
����������������
����������������2���	������	�
	����
�
	2	���$	���

��
��������	����	�3;=#��	�
	�����0	�	��	�.�

�

�������
5�������



=2	��	����$$��������������������	���������������	�����0�	,�	��	��	����


	2	���$	��.�F	�����
	$������������
���������$����	����������
����������

������������.�=2	��	������	
�0�����	�2	��	�������
�$����1��	���1��������
�

:�$��������������
	�����	��0�
	2	���$	����������������.�
�	���������2	����

���B	����$��	$	�������1��������������
���1�$������������
�	2��������1��������

�	�	�������
��������
	2	���$	��.�
�	��������������	
������	�:	��	����
�������

���2	�������	�	����	�1�0�		����	��������������
�:7����������
2��	�.�8���	�����

=2	��	�������#	2	���$	�����
�7	�
	��=?�����"
2���������3%.�

�

;������
4�����


+	��	�	��	����1���#�"�����������1������	�#	�����#��	������0���	�7��
���	�

3�������	��0�#	2	���$	���
��
�	�����7	�	2����	�	���	������������	�'�����

8�������	�G	�������(��0���	�7	�
	����
�#	2	���$	����	���������
��	�	�����

����2���	�.�3����	�	����� !*�����	����
���	
������������������	�	��������

@/�$	����
�8��������#�$�����	�����������A1�	��	������������	���	����0�������

0��$���0�3���$.�+	��	�	�������������
���	
������	
���
�������6���	��	
�

�	�	���������	��	
��������	������������������������0��	�������
�����	��1�

�	���
����2	���
��	,�����	�������
��������'�������1�9�����
	��1��	,���1�����1�

9�������+���(.�

�

�

�



�����
(


-�� 4����	
����
	+�
!�	����	�����
5!�

�������
���
�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�

�

;���A
:���



+���>�/����������	�
	����	���������������������	�	��������	�
������

#	2	���$	�����
�7	�
	��"
2����������	�������%��������3�������	����"$��	�
�$.�

F	�����$�����	�����0�	,�	��	��	������������1��
2�������������1��	�	�������
�

������$$	�
	2	���$	�������	�
	����
�
	2	���$	������"���1���	���

�	�=����

��
�"0����.�F	�����������������������	�=����"����7	�
	��"
2�����0����,0�$�79�

��
��������	�������
	��������������#������	�;��2	�������0�
���	,.�'+���>�/����

�	0���3%����
	��	$�	���������
��	����	
�����,0�$�79������	�=����"����7	�
	��

"
2��������	
����8�$��
��(.��

�

>�		��
:��	���


F	���	�/���	��������		������2	������	�0�	�
��0��	�
	��	?���������
���$	�R��

	$���	�$	������
	2	���$	�������	� !*�.���	2���������	�����	
����

���	����������@��$	�R�E�0	$�����A��	���	���2	������������������
���$$������

�	��������	������	�:	��	����
�.�
���	���	����	��		�����������������������00��	�1�

�����	����
�0����������1���
����$	���
������
	2	���$	���'��������������7	�
	��

"�
��(����0������	�����	������0��$��	�
	������	�������$$����������������������

��
����������������	���������
������	�����	��	���	?���	
�0����	�
	��	?�������

��
���$	�R��	$���	�$	��.��

�

!�����
4�����


3���	������	�1���#�0��$�F������;��2	�����1�������	�	����	��0�����������

��������	
�������1��������$�2	$	���������������
���������	��1�0��$��6

������>	
���
���0��$�������	��1���
���
��	�������
���$	��$�2	$	���.�
�	�

�����$	$�	���0���	�@+�������
����
	�"��	�����2��A�'7������+���$�0���

"��	�����2	�(���
�#��	������0���	�$���>��	�����
������	�	��	�PP3�'�������
�

��	�	���PP3(.��

�

?���	
4��������


H��	����
	�������	�	����������	
����"
2����1������	�����������
�7	�
	�������	�

�	�	�����S�#	2	���$	���#	����$	����0�388��'3��	���������������������0���


	2	���$	�������	������(1����	
����;��	���1���	�:	��	����
�.�
�	�������

��������������������������������	,�	���2	�0�	�
�	,�	��	��	����
����	����"���.�

���������B�������388�1�H��	������	
������	�3��	�����������	�������������8�������

0���%�����	�G����$�����8��	����	�1�#	�$���1���
������	�3��	����������

+	
	��������0���	��	
�8�������
��	
�8�	��	��.�

�

?����		�
5����	�����


H	��	��	�������	�$��������������������������"
2�����7	�
	����
�#�2	���������

�,0�$�:�2��.�9	0��	��������	�����	
�0�����	�=����	���;����������������


	2	���$	���������$$	�����	�
	����
���
��	�������$	����
������0�����	�

+"������	�
	�������	�����	,���0�8�$$������+��	����.�H	��	��	���������������

������������������������#�����	��������	�������������	���	��������0���	�

����	���2	���������0���
��	������	���	�.��

�

?��+��+���
������	�


H����
�����#������������������2������
��	�	����	����2��������	
���������	���

3�
���0����2	������
	��
	�.�
�	��	�
����	��������������
"F"K�7������������

�	�
	��	?���������
���$	�A���	����1�����������$����������0��$	����.�

H����
����������2��2	
��������2�������	���������������$���������
��
2����	�0���

�	,������
��	���
����2	�������1���
����	$������������������	�2���	���0�����	�


��	������00	��	
1�����������������$	������������	���	1��������	���	����0��������

�
2�����.�

�



�����
(


4����	
����
	+�
!�	����	�����
5!�

�������
�



�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�
- 

�

?����+���
�+�����


H��	����	.�"�����	������
	�����<	����	�������	�#	����$	����0�/�$	����
�

7	�
	��
��
�	�1����	�	�	�;��2	�����.�
�	��������
���	
�	,�	���2	��	�	��������

��	���	���0��	�
	����
�����������	������������2	�����	1����������
���������

������	.�F	���	�	��������������������0������$������������<�����>	
����<�����>����

#	$������4�7	�
	����
���	�����������0�#	�	������>���������8���	$�������

;���
�.�

�

5�	+����
�	���	


�����		��
���
�1���#�';��2	�������0�/��������1� !��(�������0	������0�����������


��	��	������	�;��2	�������0�%	,������=������.�
�	��	���	�������	������������

������1����
	��1�
	$������1���
���$	�.������A����	�2	������������
	�/�$	�1�

3��	����������#	2	���$	�����
���������4�%�	�9��	������������	�' !!�(.�F	��

���	�����������G���	��	���
�"���2��$������	�9��
	�4�7	�
	�1�+	��1���
�=2	��
���

<�0	����8
.�H�T�	>�';��2	�������0�%	,�����	��1����*(.������������������������

B�����	���$$����������2���.��

�

5�	����
���������


������	�#���	��	�������#	2	���$	�����
�7	�
	��=?�����"
2���������3%.�
�	�����

�	���	�����0�	,�	��	��	����
	2	���$	������������	2	����
�����"�������
�

"0�������������	�����������
	�����	��0�����	���
	��������
������	�;:1������	����

��	���	�1��	�	�����������������1����	����������:7��1���
���$$�����6���	
�

�������������.�
�	�����	
��������	�3<�������$	������	��A����������
��	�
	��

�������0��$��������
������8"�=������2�������	������	����	��������:��	����
�

:	���.�F	��$�����	�	���������$	�������0���#":3#"����:	���������	�
����6

=����$���"
2����������	�����������0�+��	������
�
����8���	�2�����.�

�

5�����
�����
5+��


�������
�		
�����������2	������	����	,�	��	��	�����	���������	$�


	2	���$	�����
���$$������
	2	���$	��.�
�	������0�������$	$�	���0���	�

#	����$	����0�8�$$������F	�����
��	��	����
���	�"��������;��2	���������

�������1���������.���������	���	����
	����
���	�$	
��������
	���1���������

���
	������
����
���	����
	���.�
�	���������������	
���2	��$	�����
����6

��2	��$	��������������
��	������������������������	�����������1�$����	$	��1�

��$$���������	
��������
	2	���$	��1���
����$�����	��������	.�+���0�����	���1�

��	�������2��������0�����������3%�0��������	�
	����
�
	2	���$	��������	.�

�

5���	�
@������


�������������
������		����������0�����	������
	��
	������$$������


	2	���$	���������	�
	��	?���������B	���2	����
����$����	
��������$	���
��

0���0������	�	����������	����������$���������	
���������������	�	���	���2	�����

������/	���9	����1�3�
��.�
�	�����������������0�		����	�����������1����2�
����

�	�	������������1�����������
�	
�������	�2��	��������������
�������
	2	���$	���

��
��	�
	������	�����������	��0��	�	��������������������
�
	2	���$	���

�������������.�
�	���������"����7	�
	����
�#	2	���$	��.�

�

2���
����
>����



<����"����F������������	�������	�
��	������0���	�8���	���2	�0����	�	�������
�

%�������D"���������	
����9	����.�
�	���������������	
����
	����������
�

$��������������$$	�������	���

�	�=������
�:�����"0������	������������	��

�	���	
����7	�
	����
�8���>	�����C�7	�
	�1�=����$����
�%��
	C���
�7	�
	��

��
�<	�
	�����.�<������������������	
����������$�	���0��	���������
�

���	������������	���	������	�����������������������������$������	�$�����	�
	�����


	2	���$	���������	����
��������	����
��������
������������	��0����	�
	��

$������	�$���.���	2������1�<����������	�������$$	�8���
�������0����,0�$�79�

���<	����������	��������$	$�	���0���	��,0�$�79�7	�
	��%	�$������	�;�.�

�



�����
(


-�� 4����	
����
	+�
!�	����	�����
5!�

�������
���
�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�

�

@��	�����
@��+����+���


�������		��������
����1���#1������������������������������	������	
�����������


	2	���$	����������0���������	�
	����
�
	2	���$	��.�"����	�	��1���	������	�

"�	��<	�
	��0���
������#	2	���$	�����
�7	�
	��=?����1���	�#	����$	����0�

#	2	���$	������������
��������	�����3%.�
�	���������	
������	�0�	�
��0�


	2	���$	���0����2	�����		�
	��
	�����
�����"���1���	���

�	�=������
�

�����	���"0����.�
�	��������������	�
	�1�����>	��������
�
	2	���$	����	�	����1�

�����������
�	
�������1���	������	2	���������������������	��0�	�
���0�	,�	����	�

�

@������
?�����


����	���H���	����������
�����%��������8����
��	��	�$�B���������@��$	��

���
�	�A���
�@������
�����������	0��$A.�
�	���������	
�0����2	�����	��	���������

:7�����
�0��$	��A��������������1�$������������6
�������"0����1����

���������������
	2	���$	�����
��	�
	����
�
	2	���$	��.�
���	�����1�����	���

��������	
�0���8��
��
����������$$	��00��	����
��	�������$����	��0���/	���

"0����1���	�	��������@�	�����	���	��	�	������A����������	�����������$	����0�

����������
��	�����������	�
	����
�	����$���
	2	���$	�����
��	�
	��

$������	�$���.�

�

@�������	�
�����


�����	���	�"��	������������	
����������������
�
	2	���$	�������������	��

��	��������������������
	2	���$	�����
��	�
	��	?������������
������$	�A��

�������������������	��������$���	�1��	�
	��B�����	1�����>	�����1���2	�����	���
�

������6���	
���������	�.�
�	�����	,�	��	��	�������������
���
����������������1�

�����	���
	2	���$	��1���������1���������	�	����1����������
�������$$	�


	2	���$	��1���������1�$������������
�	2��������.�8���	��������	
����8��������

�����B	����	�
	���0����	�������������$$	������$	�����	����$�����0	1�

�����	���	��������������������	������������������2	������	���������	�������	�

�=:"��	����.�

�

@����
?���
1�����
$��A���A



������H��	�9���	��7��>��	>�������������
	2	���$	�����	�����������������"����

������
������#	2	���$	�����
��2	���-��	�����0�	,�	��	��	����
	2	���$	���

��������<�����"$	����1�"���1���
�"0����.�
�	�����	,�	����	�����	�
	����
�

	����$���������1�����������	���2	�����
�1�	��	�����	�
	2	���$	��1�$���	��

���	��1������	�����
���1���������1��$��	$	����������
�	2����������0�

����������	�
	2	���$	���������$$	�1�$����	$	��1����������������


	2	���$	�����
��������������������	.�������H��	������
	�����#	2	���$	�����
�

7	�
	��=?�����"
2���������3%.�

�

@���B��
@���B


����B�	�����B������		��������������
2���	���$	�A��������.�
�	������	
������

F�2������������0�	��������������	�
	���
2�����0���"0������������	�/���
�+��
�

������$$	.�"����	�	��1�����B�	������������$$	��00��	��0���7	�
	�1�/�$	��

��
�#	2	���$	�����	�	���	�$����	��������0������0�F�2���0������������������	
�

��$	�A��������������������������;���
�1��	���1�%��>�������
�
���<����.�F	��

���	���	������������	�������
	�$������	�$�����	�
	�������	����	��F�2�����	$�����

������	����
��������	1��������������
�����0������	���������������1��������$�����1�

��
�0��
��������.����

�

@���	
�B�������


������%B�$����
��������������������������������"�������	����0	�����0�����	�

���	��������������	���������$$	����7	�
	����
�#	2	���$	��������	�;��2	������

�0�9	��	�.�
�	�
	0	�
	
��	����#��������������3���$�������	�	$	��������
�2�
����

��0	����B	�������%��������������.��	�	���������������0����	
��������	���	���	
����

	
����������
������	
�	����
�����������	������
	2	���$	�����
���������������

����	�.�
�	��������	�������2��2	
�������	�	��������B	��������������
����������



�����
(


4����	
����
	+�
!�	����	�����
5!�

�������
�



�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�
-�

�

�����������������%���������
���	�8>	����	����������	��	�������������	���	����

;��2	�������0�9	��	�.���

�

�����
���B����
C����


������%��B�����;���	��������������������
�	
���������
�#��	������0�=�
��"$	�����

<�����1��������	���������=�
��%���
�/���
.�
�	�����
	2��	
��2	������	����

��������������������������$$�����	�����2�������<�����"$	�������������	�.�3��

8���$������	�����������2�����0�	���������
���$	�A����
���$����������

$�2	$	���.�����������
	2	���	
���������2	������	��������������
����6���
	$���

�������������	�
	�.�"����	�	��1���	������	��	�
	���	0	�	��������$�������������

����	���������	�����	���0�"0����1�=����	���
�<�����"$	����.�

�

�����
�������


�	��������$�����������	
������	�0�	�
��0��	�
	����
�
	2	���$	��������

���	����������
�������	���	����
�:7���0�����	������0�0�		���	���.�
�	����

����������������	�	��	
�����	�
	����
���������������������	���
������	�	�����

��$��	�	
����������������1�	������������������������������	����
���

�	������

�	�
	����
���������������������	�0����	����#�';��2	�������0�=����"�����1�


�������0�#	2	���$	���
��
�	�(.��	������2	�����H�����	��������
�������������

��
	�	�
	�������������������	�0�	�
��0���$	�A��������1��	�
	����
�


	2	���$	��.��

�

4�	+
�������


������	�����������		������2	�����
2�����1��	�	����1�����������
���������������	�

0�	�
��0�
	2	���$	������
�	������	���	�$�
� !���.�8�6��������0���	�����6

��	������:�$��	�+���	���$��	�8�	���/���	���' !* (���
���	������������2	�

+	$������G������1�7	�
	�1�#	2	���$	�����
��������' !!*(1��	���	�	���������

0����	
������$	�A������������	����	����������	����$�1�$����������	������

"$	�������������	����������	�%���69��$	�	����
	����
������	�;�.�
�	�����


	��2	�	
��	�
	��������������
�������
�8	������"$	����1���	�8�����	��1����6


�������"0�������
�=������
�
�����=����"���.�+��$	�������0	������0�/�$	����
�

#	2	���$	������3

1���	�F���	1���	�����
��	������	�8	���	��0�#	2	���$	���


��
�	�������	�;��2	�������0�<		
����
����������������		��0���	�/�$	�A��

=$����$	��1�=��	�����	���
�%��������;������
��0�F�$	����	���/���
��
	.�

�

�������
������



��������	�	��������
���<�����������������"�����"�
�3��	���������������	�

/�$	�A���������8���
��������0�"�����	����.�F	���������2��2	������
����������
�

�������������
�����0���	���$	�A�������������
���������0���	�2	�"������������	�1�

�����������
��
2����������	�	��	
�����	����
��	����������������	���$	�A��

$�2	$	������"��������������������
����"0�������
���	�"$	����������	�	���.�F	��

��	�����������������
	��������������������	��$	����0��$����	�
	���	���	���2	1�

�	�
	����
�	����1��������������������������0���$	����
�	����$�����2	�����	1�

��
��	�	��������2���	��	�����������$	�.�
���������������	
������
:G1�

;:3+=�1���
�"#9���
�������
	����	��������	�$������������	�����$����
�����

��
�
�����=����"������������	�������������	�
	�������	����
�����������	���


	2	���	�.�

�

�+����
@���



��$�$��		�������0	$����������2����������������	
�������	�	����	�1�����	����
�

���������������
	2	���$	�������������	�����
�����"0�������
����	������������

����	�$�
� !!-.�F	������������		�������:7������������
	2	���$	��1�������


	2	���$	�����
���$�����������������$	�A������������������
����
	�������.�

��������� !!-1���	�����	
������������������
�0	$����������2�����������

�������������������	������������	�
1���
�������60���
	���0�0	$������

�������������
�="����
�"�	�
�.��

�



�����
(


--� 4����	
����
	+�
!�	����	�����
5!�

�������
���
�	2�����������
�	����
��������������	�
	����
�
	2	���$	���6���	�$��������
��	6$�������0��	�
	�������	
�	�

�

�


